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NEW QUESTION 1

- (Exam Topic 1)

A company wants to migrate an application to Amazon EC2 from VMware Infrastructure that runs in an

on-premises data center. A solutions architect must preserve the software and configuration settings during the migration.
What should the solutions architect do to meet these requirements?

A. Configure the AWS DataSync agent to start replicating the data store to Amazon FSx for Windows File Server Use the SMB share to host the VMware data stor
B. Use VM Import/Export to move the VMs to Amazon EC2.

C. Use the VMware vSphere client to export the application as an image in Open Virealization Format (OVF) format Create an Amazon S3 bucket to store the
image in the destination AWS Regio

D. Create and apply an IAM role for VM Import Use the AWS CLI to run the EC2 import command.

E. Configure AWS Storage Gateway for files service to export a Common Internet File System (CIFSJ shar

F. Create a backup copy to the shared folde

G. Sign in to the AWS Management Console and create an AMI from the backup copy Launch an EC2 instance that is based on the AMI.

H. Create a managed-instance activation for a hybrid environment in AWS Systems Manage

I. Download and install Systems Manager Agent on the on-premises VM Register the VM with Systems Manager to be a managed instance Use AWS Backup to
create a snapshot of the VM and create an AM

J. Launch an EC2 instance that is based on the AMI

Answer: B

Explanation:

https://docs.aws.amazon.com/vm-import/latest/userguide/vmimport-image-import.html

- Export an OVF Template

- Create / use an Amazon S3 bucket for storing the exported images. The bucket must be in the Region where you want to import your VMs.
- Create an IAM role named vmimport.

- You'll use AWS CLI to run the import commands. https://aws.amazon.com/premiumsupport/knowledge-center/import-instances/

NEW QUESTION 2

- (Exam Topic 1)

A retail company is operating its ecommerce application on AWS. The application runs on Amazon EC2 instances behind an Application Load Balancer (ALB). The
company uses an Amazon RDS DB instance as the database backend. Amazon CloudFront is configured with one origin that points to the ALB. Static content is
cached. Amazon Route 53 is used to host all public zones.

After an update of the application, the ALB occasionally returns a 502 status code (Bad Gateway) error. The root cause is malformed HTTP headers that are
returned to the ALB. The webpage returns successfully when a solutions architect reloads the webpage immediately after the error occurs.

While the company is working on the problem, the solutions architect needs to provide a custom error page instead of the standard ALB error page to visitors.
Which combination of steps will meet this requirement with the LEAST amount of operational overhead? (Choose two.)

A. Create an Amazon S3 bucke

B. Configure the S3 bucket to host a static webpag

C. Upload the custom error pages to Amazon S3.

D. Create an Amazon CloudWatch alarm to invoke an AWS Lambda function if the ALB health check response Target.FailedHealthChecks is greater than 0.
Configure the Lambda function to modify the forwarding rule at the ALB to point to a publicly accessible web server.

E. Modify the existing Amazon Route 53 records by adding health check

F. Configure a fallback target if the health check fail

G. Modify DNS records to point to a publicly accessible webpage.

H. Create an Amazon CloudWatch alarm to invoke an AWS Lambda function if the ALB health check response Elb.InternalError is greater than 0. Configure the
Lambda function to modify the forwarding rule at the ALB to point to a public accessible web server.

I. Add a custom error response by configuring a CloudFront custom error pag

J. Modify DNS records to point to a publicly accessible web page.

Answer: AE

Explanation:

"Save your custom error pages in a location that is accessible to CloudFront. We recommend that you store them in an Amazon S3 bucket, and that you don'’t
store them in the same place as the rest of your website or application’s content. If you store the custom error pages on the same origin as your website or
application, and the origin starts to return 5xx errors, CloudFront can't get the custom error pages because the origin server is unavailable."
https://docs.aws.amazon.com/AmazonCloudFront/latest/DeveloperGuide/GeneratingCustomErrorResponses.htm

NEW QUESTION 3

- (Exam Topic 1)

A company is migrating its three-tier web application from on-premises to the AWS Cloud. The company has the following requirements for the migration process:
* Ingest machine images from the on-premises environment.

« Synchronize changes from the on-premises environment to the AWS environment until the production cutover.

» Minimize downtime when executing the production cutover.

 Migrate the virtual machines' root volumes and data volumes.

Which solution will satisfy these requirements with minimal operational overhead?

A. Use AWS Server Migration Service (SMS) to create and launch a replication job for each tier of the applicatio
B. Launch instances from the AMIs created by AWS SM

C. After initial testing, perform a final replication and create new instances from the updated AMIs.

D. Create an AWS CLIVM Import/Export script to migrate each virtual machin

E. Schedule the script to run incrementally to maintain changes in the applicatio

F. Launch instances from the AMlIs created by VM Import/Expor

G. Once testing is done, rerun the script to do a final import and launch the instances from the AMls.
H. Use AWS Server Migration Service (SMS) to upload the operating system volume

I. Use the AWS CLI import-snaps hot command 'or the data volume

J. Launch instances from the AMIs created by AWSSMS and attach the data volumes to the instance
K. After initial testing, perform a final replication, launch new instances from the replicated AMI
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L. and attach the data volumes to the instances.

M. Use AWS Application Discovery Service and AWS Migration Hub to group the virtual machines as an applicatio
N. Use the AWS CLI VM Import/Export script to import the virtual machines as AMI

0. Schedule the script to run incrementally to maintain changes in the applicatio

P. Launch instances from the AMI

Q. After initial testing, perform a final virtual machine import and launch new instances from the AMIs.

Answer: A

Explanation:
SMS can handle migrating the data volumes:
https://aws.amazon.com/about-aws/whats-new/2018/09/aws-server-migration-service-adds-support-for-migratin

NEW QUESTION 4

- (Exam Topic 1)

A company is running a traditional web application on Amazon EC2 instances. The company needs to refactor the application as microservices that run on
containers. Separate versions of the application exist in two distinct environments: production and testing. Load for the application is variable, but the minimum
load and the maximum load are known. A solutions architect needs to design the updated application with a serverless architecture that minimizes operational
complexity.

Which solution will meet these requirements MOST cost-effectively?

A. Upload the container images to AWS Lambda as function

B. Configure a concurrency limit for the associated Lambda functions to handle the expected peak loa

C. Configure two separate Lambda integrations within Amazon API Gateway: one for production and one for testing.

D. Upload the container images to Amazon Elastic Container Registry (Amazon ECR). Configure two auto scaled Amazon Elastic Container Service (Amazon
ECS) clusters with the Fargate launch type to handle the expected loa

E. Deploy tasks from the ECR image

F. Configure two separate Application Load Balancers to direct traffic to the ECS clusters.

G. Upload the container images to Amazon Elastic Container Registry (Amazon ECR). Configure two auto scaled Amazon Elastic Kubernetes Service (Amazon
EKS) clusters with the Fargate launch type to handle the expected loa

H. Deploy tasks from the ECR image

I. Configure two separate Application Load Balancers to direct traffic to the EKS clusters.

J. Upload the container images to AWS Elastic Beanstal

K. In Elastic Beanstalk, create separate environments and deployments for production and testin

L. Configure two separate Application Load Balancers to direct traffic to the Elastic Beanstalk deployments.

Answer: D

Explanation:
minimizes operational + microservices that run on containers = AWS Elastic Beanstalk

NEW QUESTION 5

- (Exam Topic 1)

A large company in Europe plans to migrate its applications to the AWS Cloud. The company uses multiple AWS accounts for various business groups. A data
privacy law requires the company to restrict developers' access to AWS European Regions only.

What should the solutions architect do to meet this requirement with the LEAST amount of management overhead”

A. Create IAM users and IAM groups in each accoun

B. Create IAM policies to limit access to non-European Regions Attach the IAM policies to the IAM groups

C. Enable AWS Organizations, attach the AWS accounts, and create OUs for European Regions andnon-European Region

D. Create SCPs to limit access to non-European Regions and attach the policies to the OUs.

E. Set up AWS Single Sign-On and attach AWS account

F. Create permission sets with policies to restrict access to non-European Regions Create IAM users and IAM groups in each account.
G. Enable AWS Organizations, attach the AWS accounts, and create OUs for European Regions andnon-European Region

H. Create permission sets with policies to restrict access to non-European Region

I. Create IAM users and IAM groups in the primary account.

Answer: B

Explanation:

"This policy uses the Deny effect to deny access to all requests for operations that don't target one of the two approved regions (eu-central-1 and eu-west-1)."
https://docs.aws.amazon.com/organizations/latest/userguide/orgs_manage_policies_scps_examples_general.htm
https://docs.aws.amazon.com/IAM/latest/UserGuide/reference_policies_elements_condition.html

NEW QUESTION 6

- (Exam Topic 1)

A public retail web application uses an Application Load Balancer (ALB) in front of Amazon EC2 instances running across multiple Availability Zones (AZs) in a
Region backed by an Amazon RDS MySQL Multi-AZ deployment. Target group health checks are configured to use HTTP and pointed at the product catalogue
page. Auto Scaling is configured to maintain the web fleet size based on the ALB health check.

Recently, the application experienced an outage. Auto Scaling continuously replaced the instances during the outage. A subsequent investigation determined that
the web server metrics were within the normal range, but the database tier was experiencing high load, resulting in severely elevated query response times.
Which of the following changes together would remediate these issues while improving monitoring capabilities for the availability and functionality of the entire
application stack for future growth? (Select TWO.)

A. Configure read replicas for Amazon RDS MySQL and use the single reader endpoint in the web application to reduce the load on the backend database tier.
B. Configure the target group health check to point at a simple HTML page instead of a product catalog page and the Amazon Route 53 health check against the
product page to evaluate full application functionalit

C. Configure Amazon CloudWatch alarms to notify administrators when the site fails.

D. Configure the target group health check to use a TCP check of the Amazon EC2 web server and the Amazon Route 53 health check against the product page
to evaluate full application functionalit
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E. Configure Amazon CloudWatch alarms to notify administrators when the site fails.

F. Configure an Amazon CloudWatch alarm for Amazon RDS with an action to recover a high-load, impaired RDS instance in the database tier.

G. Configure an Amazon ElastiCache cluster and place it between the web application and RDS MySQL instances to reduce the load on the backend database
tier.

Answer: BE

Explanation:
https://docs.aws.amazon.com/Route53/latest/DeveloperGuide/health-checks-types.html

NEW QUESTION 7

- (Exam Topic 1)

A solutions architect is designing a network for a new cloud deployment. Each account will need autonomy to modify route tables and make changes. Centralized
and controlled egress internet connectivity is also needed. The cloud footprint is expected to grow to thousands of AWS accounts.

Which architecture will meet these requirements?

A. A centralized transit VPC with a VPN connection to a standalone VPC in each accoun

B. Outbound internet traffic will be controlled by firewall appliances.

C. A centralized shared VPC with a subnet for each accoun

D. Outbound internet traffic will controlled through a fleet of proxy servers.

E. A shared services VPC to host central assets to include a fleet of firewalls with a route to the internet.Each spoke VPC will peer to the central VPC.
F. A shared transit gateway to which each VPC will be attache

G. Outbound internet access will route through a fleet of VPN-attached firewalls.

Answer: D

Explanation:

https://docs.aws.amazon.com/whitepapers/latest/building-scalable-secure-multi-vpc-network-infrastructure/centr
https://docs.aws.amazon.com/whitepapers/latest/building-scalable-secure-multi-vpc-network-infrastructure/centr

AWS Transit Gateway helps you design and implement networks at scale by acting as a cloud router. As your network grows, the complexity of managing
incremental connections can slow you down. AWS Transit Gateway connects VPCs and on-premises networks through a central hub. This simplifies your network
and puts an end to complex peering relationships -- each new connection is only made once.

NEW QUESTION 8

- (Exam Topic 1)

A company maintains a restaurant review website. The website is a single-page application where files are stored in Amazon S3 and delivered using Amazon
CloudFront. The company receives several fake postings every day that are manually removed.

The security team has identified that most of the fake posts are from bots with IP addresses that have a bad reputation within the same global region. The team
needs to create a solution to help restrict the bots from accessing the website.

Which strategy should a solutions architect use?

A. Use AWS Firewall Manager to control the CloudFront distribution security setting

B. Create a geographical block rule and associate it with Firewall Manager.

C. Associate an AWS WAF web ACL with the CloudFront distributio

D. Select the managed Amazon IP reputation rule group for the web ACL with a deny action.

E. Use AWS Firewall Manager to control the CloudFront distribution security setting

F. Select the managed Amazon IP reputation rule group and associate it with Firewall Manager with a deny action.
G. Associate an AWS WAF web ACL with the CloudFront distributio

H. Create a rule group for the web ACL with a geographical match statement with a deny action.

Answer: B

Explanation:

IP reputation rule groups allow you to block requests based on their source. Choose one or more of these rule groups if you want to reduce your exposure to
BOTS!!! traffic or exploitation attempts

The Amazon IP reputation list rule group contains rules that are based on Amazon internal threat intelligence. This is useful if you would like to block IP addresses
typically associated with bots or other threats. Inspects for a list of IP addresses that have been identified as bots by Amazon threat intelligence.

NEW QUESTION 9

- (Exam Topic 1)

A company wants to migrate a 30 TB Oracle data warehouse from on premises to Amazon Redshift The company used the AWS Schema Conversion Tool (AWS
SCT) to convert the schema of the existing data warehouse to an Amazon Redshift schema The company also used a migration assessment report to identify
manual tasks to complete.

The company needs to migrate the data to the new Amazon Redshift cluster during an upcoming data freeze period of 2 weeks The only network connection
between the on-premises data warehouse and AWS is a 50 Mops internet connection

Which migration strategy meets these requirements?

A. Create an AWS Database Migration Service (AWS DMS) replication instanc

B. Authorize the public IP address of the replication instance to reach the data warehouse through the corporate firewall Create a migration task to run at the
beginning of the data freeze period.

C. Install the AWS SCT extraction agents on the on-premises server

D. Define the extract, upload, and copy tasks to send the data to an Amazon S3 bucke

E. Copy the data into the Amazon Redshift cluste

F. Run the tasks at the beginning of the data freeze period.

G. install the AWS SCT extraction agents on the on-premises server

H. Create a Site-to-Site VPN connection Create an AWS Database Migration Service (AWS DMS) replication instance that is the appropriate size Authorize the IP
address of the replication instance to be able to access the on-premises data warehouse through the VPN connection

I. Create a job in AWS Snowball Edge to import data into Amazon S3 Install AWS SCT extraction agents on the on-premises servers Define the local and AWS
Database Migration Service (AWS DMS) tasks to send the data to the Snowball Edge device When the Snowball Edge device is returned to AWS and the data is
available in Amazon S3, run the AWS DMS subtask to copy the data to Amazon Redshift.
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Answer: D

Explanation:

AWS Database Migration Service (AWS DMS) can use Snowball Edge and Amazon S3 to migrate large databases more quickly than by other methods
https://docs.aws.amazon.com/dms/latest/userguide/CHAP_LargeDBs.html

https://www.calctool.org/CALC/prof/computing/transfer_time

NEW QUESTION 10

- (Exam Topic 1)

A company requires that all internal application connectivity use private IP addresses. To facilitate this policy, a solutions architect has created interface endpoints
to connect to AWS public services. Upon testing, the solutions architect notices that the service names are resolving to public IP addresses, and that internal
services cannot connect to the interface endpoints.

Which step should the solutions architect take to resolve this issue?

A. Update the subnet route table with a route to the interface endpoint.

B. Enable the private DNS option on the VPC attributes.

C. Configure the security group on the interface endpoint to allow connectivity to the AWS services.

D. Configure an Amazon Route 53 private hosted zone with a conditional forwarder for the internal application.

Answer: C

Explanation:
https://docs.aws.amazon.com/vpc/latest/privatelink/vpce-interface.html

NEW QUESTION 10

- (Exam Topic 1)

A company is running an application on several Amazon EC2 instances in an Auto Scaling group behind an Application Load Balancer. The load on the application
varies throughout the day, and EC2 instances are scaled in and out on a regular basis. Log files from the EC2 instances are copied to a central Amazon S3 bucket
every 15 minutes. The security team discovers that log files are missing from some of the terminated EC2 instances.

Which set of actions will ensure that log files are copied to the central S3 bucket from the terminated EC2 instances?

A. Create a script to copy log files to Amazon S3, and store the script in a file on the EC2 instanc

B. Create an Auto Scaling lifecycle hook and an Amazon EventBridge (Amazon CloudWatch Events) rule to detect lifecycle events from the Auto Scaling grou

C. Invoke an AWS Lambda function on the autoscaling:EC2_INSTANCE_TERMINATING transition to send ABANDON to the Auto Scaling group to prevent
termination, run the script to copy the log files, and terminate the instance using the AWS SDK.

D. Create an AWS Systems Manager document with a script to copy log files to Amazon S3. Create an Auto Scaling lifecycle hook and an Amazon EventBridge
(Amazon CloudWatch Events) rule to detect lifecycle events from the Auto Scaling grou

E. Invoke an AWS Lambda function on the autoscaling:EC2_INSTANCE_TERMINATING transition to call the AWS Systems Manager APl SendCommand
operation to run the document to copy the log files and send CONTINUE to the Auto Scaling group to terminate the instance.

F. Change the log delivery rate to every 5 minute

G. Create a script to copy log files to Amazon S3, and add the script to EC2 instance user dat

H. Create an Amazon EventBridge (Amazon CloudWatch Events) rule to detect EC2 instance terminatio

I. Invoke an AWS Lambda function from the EventBridge (CloudWatch Events) rule that uses the AWS CLI to run the user-data script to copy the log files and
terminate the instance.

J. Create an AWS Systems Manager document with a script to copy log files to Amazon S3. Create an Auto Scaling lifecycle hook that publishes a message to an
Amazon Simple Notification Service(Amazon SNS) topi

K. From the SNS notification, call the AWS Systems Manager APl SendCommand operation to run the document to copy the log files and send ABANDON to the
Auto Scaling group to terminate the instance.

Answer: B

Explanation:

https://docs.aws.amazon.com/autoscaling/ec2/userguide/adding-lifecycle-hooks.html

- Refer to Default Result section - If the instance is terminating, both abandon and continue allow the instance to terminate. However, abandon stops any
remaining actions, such as other lifecycle hooks, and continue allows any other lifecycle hooks to complete.
https://aws.amazon.com/blogs/infrastructure-and-automation/run-code-before-terminating-an-ec2-auto-scaling-i https://github.com/aws-samples/aws-lambda-
lifecycle-hooks-function

https://github.com/aws-samples/aws-lambda-lifecycle-hooks-function/blob/master/cloudformation/template.yam

NEW QUESTION 11

- (Exam Topic 1)

A company has 50 AWS accounts that are members of an organization in AWS Organizations Each account contains multiple VPCs The company wants to use
AWS Transit Gateway to establish connectivity between the VPCs in each member account Each time a new member account is created, the company wants to
automate the process of creating a new VPC and a transit gateway attachment.

Which combination of steps will meet these requirements? (Select TWO)

A. From the management account, share the transit gateway with member accounts by using AWS Resource Access Manager

B. Prom the management account, share the transit gateway with member accounts by using an AWSOrganizations SCP

C. Launch an AWS CloudFormation stack set from the management account that automatical”/ creates a new VPC and a VPC transit gateway attachment in a
member accoun

D. Associate the attachment with the transit gateway in the management account by using the transit gateway ID.

E. Launch an AWS CloudFormation stack set from the management account that automatical® creates a new VPC and a peering transit gateway attachment in a
member accoun

F. Share the attachment with the transit gateway in the management account by using a transit gateway service-linked role.

G. From the management account, share the transit gateway with member accounts by using AWS Service Catalog

Answer: AC

Explanation:
https://aws.amazon.com/blogs/mt/self-service-vpcs-in-aws-control-tower-using-aws-service-catalog/
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NEW QUESTION 14

- (Exam Topic 1)

An ecommerce website running on AWS uses an Amazon RDS for MySQL DB instance with General Purpose SSD storage. The developers chose an appropriate
instance type based on demand, and configured 100 GB of storage with a sufficient amount of free space.

The website was running smoothly for a few weeks until a marketing campaign launched. On the second day of the campaign, users reported long wait times and
time outs. Amazon CloudWatch metrics indicated that both reads and writes to the DB instance were experiencing long response times. The CloudWatch metrics
show 40% to 50% CPU and memory utilization, and sufficient free storage space is still available. The application server logs show no evidence of database
connectivity issues.

What could be the root cause of the issue with the marketing campaign?

A. It exhausted the I/O credit balance due to provisioning low disk storage during the setup phase.

B. It caused the data in the tables to change frequently, requiring indexes to be rebuilt to optimize queries.
C. It exhausted the maximum number of allowed connections to the database instance.

D. It exhausted the network bandwidth available to the RDS for MySQL DB instance.

Answer: A

Explanation:

"When using General Purpose SSD storage, your DB instance receives an initial 1/0 credit balance of 5.4 million 1/O credits. This initial credit balance is enough to
sustain a burst performance of 3,000 IOPS for 30 minutes."
https://aws.amazon.com/blogs/database/how-to-use-cloudwatch-metrics-to-decide-between-general-purpose-or

NEW QUESTION 19

- (Exam Topic 1)

A company is running a web application on Amazon EC2 instances in a production AWS account. The company requires all logs generated from the web
application to be copied to a central AWS account (or analysis and archiving. The company's AWS accounts are currently managed independently. Logging agents
are configured on the EC2 instances to upload the tog files to an Amazon S3 bucket in the central AWS account.

A solutions architect needs to provide access for a solution that will allow the production account to store log files in the central account. The central account also
needs to have read access to the tog files.

What should the solutions architect do to meet these requirements?

. Create a cross-account role in the central accoun

. Assume the role from the production account when the logs are being copied.

. Create a policy on the S3 bucket with the production account ID as the principa

. Allow S3 access from a delegated user.

. Create a policy on the S3 bucket with access from only the CIDR range of the EC2 instances in the production accoun
Use the production account ID as the principal.

. Create a cross-account role in the production accoun

. Assume the role from the production accountwhen the logs are being copied.

IOMNMmMmOO >

Answer: B

NEW QUESTION 21

- (Exam Topic 1)

A company uses AWS Transit Gateway for a hub-and-spoke model to manage network traffic between many VPCs. The company is developing a new service that
must be able to send data at 100 Gbps. The company needs a faster connection to other VPCs in the same AWS Region.

Which solution will meet these requirements?

A. Establish VPC peering between the necessary VPC

B. Ensure that all route tables are updated as required.

C. Attach an additional transit gateway to the VPC

D. Update the route tables accordingly.

E. Create AWS Site-to-Site VPN connections that use equal-cost multi-path (ECMP) routing between the necessary VPCs.
F. Create an additional attachment from the necessary VPCs to the existing transit gateway.

Answer: D

NEW QUESTION 24

- (Exam Topic 1)

A company has developed an application that is running Windows Server on VMware vSphere VMs that the company hosts or premises. The application data is
stored in a proprietary format that must be read through the application. The company manually provisioned the servers and the application.

As pan of us disaster recovery plan, the company warns the ability to host its application on AWS temporarily me company's on-premises environment becomes
unavailable The company wants the application to return to on-premises hosting after a disaster recovery event is complete The RPO 15 5 minutes.

Which solution meets these requirements with the LEAST amount of operational overhead?

A. Configure AWS DataSyn

B. Replicate the data lo Amazon Elastic Block Store (Amazon EBS) volumes When the on-premises environment is unavailable, use AWS CloudFormation
templates to provision Amazon EC2 instances and attach the EBS volumes

C. Configure CloudEndure Disaster Recovery Replicate the data to replication Amazon EC2 instances that are attached to Amazon Elastic Block Store (Amazon
EBS) volumes When the on-premises environment is unavailable, use CloudEndure to launch EC2 instances that use the replicated volumes.

D. Provision an AWS Storage Gateway We gatewa

E. Recreate the data lo an Amazon S3 bucke

F. When the on-premises environment is unavailable, use AWS Backup to restore the data to Amazon Elastic Block Store (Amazon EBS) volumes and launch
Amazon EC2 instances from these EBS volumes

G. Provision an Amazon FS* for Windows File Server file system on AWS Replicate :ne data to the «e system When the on-premoes environment is unavailable,
use AWS CloudFormation templates to provision Amazon EC2 instances and use AWS :CloudFofmation::Init commands to mount the Amazon FSx file shares

Answer: D
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NEW QUESTION 25

- (Exam Topic 1)

A company has registered 10 new domain names. The company uses the domains for online marketing. The company needs a solution that will redirect online
visitors to a specific URL for each domain. All domains and target URLs are defined in a JSON document. All DNS records are managed by Amazon Route 53.
A solutions architect must implement a redirect service that accepts HTTP and HTTPS requests.

Which combination of steps should the solutions architect take to meet these requirements with the LEAST amount of operational effort? (Choose three.)

A. Create a dynamic webpage that runs on an Amazon EC2 instanc

B. Configure the webpage to use the JSON document in combination with the event message to look up and respond with a redirect URL.

C. Create an Application Load Balancer that includes HTTP and HTTPS listeners.

D. Create an AWS Lambda function that uses the JSON document in combination with the event message to look up and respond with a redirect URL.
E. Use an Amazon API Gateway API with a custom domain to publish an AWS Lambda function.

F. Create an Amazon CloudFront distributio

G. Deploy a Lambda@Edge function.

H. Create an SSL certificate by using AWS Certificate Manager (ACM). Include the domains as Subject Alternative Names.

Answer: CEF

Explanation:
https://docs.aws.amazon.com/AmazonCloudFront/latest/DeveloperGuide/lambda-edge-how-it-works-tutorial.ht

NEW QUESTION 29

- (Exam Topic 1)

A company wants to retire its Oracle Solaris NFS storage arrays. The company requires rapid data migration over its internet network connection to a combination
of destinations for Amazon S3. Amazon Elastic File System (Amazon EFS), and Amazon FSx lor Windows File Server. The company also requires a full initial
copy, as well as incremental transfers of changes until the retirement of the storage arrays. All data must be encrypted and checked for integrity.

What should a solutions architect recommend to meet these requirements?

A. Configure CloudEndur

B. Create a project and deploy the CloudEndure agent and token to the storage arra
C. Run the migration plan to start the transfer.

D. Configure AWS DataSyn

E. Configure the DataSync agent and deploy it to the local networ
F. Create a transfer task and start the transfer.

G. Configure the aws S3 sync comman

H. Configure the AWS client on the client side with credential

I. Run the sync command to start the transfer.

J. Configure AWS Transfer (or FT

K. Configure the FTP client with credential

L. Script the client to connect and sync to start the transfer.

Answer: B

NEW QUESTION 34

- (Exam Topic 1)

A company uses a service to collect metadata from applications that the company hosts on premises. Consumer devices such as TVs and internet radios access
the applications. Many older devices do not support certain HTTP headers and exhibit errors when these headers are present in responses. The company has
configured an on-premises load balancer to remove the unsupported headers from responses sent to older devices, which the company identified by the User-
Agent headers.

The company wants to migrate the service to AWS, adopt serverless technologies, and retain the ability to support the older devices. The company has already
migrated the applications into a set of AWS Lambda functions.

Which solution will meet these requirements?

A. Create an Amazon CloudFront distribution for the metadata servic

B. Create an Application Load Balancer (ALB). Configure the CloudFront distribution to forward requests to the AL

C. Configure the ALB to invoke the correct Lambda function for each type of reques

D. Create a CloudFront function to remove the problematic headers based on the value of the User-Agent header.

E. Create an Amazon API| Gateway REST API for the metadata servic

F. Configure APl Gateway to invoke the correct Lambda function for each type of reques

G. Modify the default gateway responses to remove the problematic headers based on the value of the User-Agent header.
H. Create an Amazon API Gateway HTTP API for the metadata servic

I. Configure API Gateway to invoke the correct Lambda function for each type of reques

J. Create a response mapping template to remove the problematic headers based on the value of the User-Agen

K. Associate the response data mapping withthe HTTP API.

L. Create an Amazon CloudFront distribution for the metadata servic

M. Create an Application Load Balancer (ALB). Configure the CloudFront distribution to forward requests to the AL

N. Configure the ALB to invoke the correct Lambda function for each type of reques

O. Create a Lambda@Edge function that will remove the problematic headers in response to viewer requests based on the value of theUser-Agent header.

Answer: D

Explanation:
https://docs.aws.amazon.com/AmazonCloudFront/latest/DeveloperGuide/lambda-examples.html

NEW QUESTION 35

- (Exam Topic 1)

A finance company hosts a data lake in Amazon S3. The company receives financial data records over SFTP each night from several third parties. The company
runs its own SFTP server on an Amazon EC2 instance in a public subnet of a VPC. After the files ate uploaded, they are moved to the data lake by a cron job that
runs on the same instance. The SFTP server is reachable on DNS sftp.examWe.com through the use of Amazon Route 53.

What should a solutions architect do to improve the reliability and scalability of the SFTP solution?
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. Move the EC2 instance into an Auto Scaling grou

. Place the EC2 instance behind an Application Load Balancer (ALB). Update the DNS record sftp.example.com in Route 53 to point to the ALB.
. Migrate the SFTP server to AWS Transfer for SFT

. Update the DNS record sftp.example.com in Route 53 to point to the server endpoint hostname.

. Migrate the SFTP server to a file gateway in AWS Storage Gatewa

. Update the DNS record sflp.example.com in Route 53 to point to the file gateway endpoint.

. Place the EC2 instance behind a Network Load Balancer (NLB). Update the DNS record sftp.example.com in Route 53 to point to the NLB.

GTMmMmoOm>

Answer: B

Explanation:
https://aws.amazon.com/aws-transfer-family/faqs/ https://docs.aws.amazon.com/transfer/latest/userguide/what-is-aws-transfer-family.htmi
https://aws.amazon.com/about-aws/whats-new/2018/11/aws-transfer-for-sftp-fully-managed-sftp-for-s3/?ncl=h_

NEW QUESTION 37

- (Exam Topic 1)

A company is running an Apache Hadoop cluster on Amazon EC2 instances. The Hadoop cluster stores approximately 100 TB of data for weekly operational
reports and allows occasional access for data scientists to retrieve data. The company needs to reduce the cost and operational complexity for storing and serving
this data.

Which solution meets these requirements in the MOST cost-effective manner?

A. Move the Hadoop cluster from EC2 instances to Amazon EM

B. Allow data access patterns to remain the same.

C. Write a script that resizes the EC2 instances to a smaller instance type during downtime and resizes the instances to a larger instance type before the reports
are created.

D. Move the data to Amazon S3 and use Amazon Athena to query the data for report

E. Allow the data scientists to access the data directly in Amazon S3.

F. Migrate the data to Amazon DynamoDB and modify the reports to fetch data from DynamoD

G. Allow the data scientists to access the data directly in DynamoDB.

Answer: C

Explanation:

"The company needs to reduce the cost and operational complexity for storing and serving this data. Which solution meets these requirements in the MOST cost-
effective manner?" EMR storage is ephemeral. The company has 100TB that need to persist, they would have to use EMRFS to backup to S3 anyway.
https://docs.aws.amazon.com/emr/latest/ManagementGuide/emr-plan-storage.html

100TB

EBS - 8.109% S3 - 2.355%

You have saved 5.752%

This amount can be used for Athen. BTW. we don't know indexes, amount of data that is scanned. What we know is that tit will be: "occasional access for data
scientists to retrieve data"

NEW QUESTION 40

- (Exam Topic 1)

An online e-commerce business is running a workload on AWS. The application architecture includes a web tier, an application tier for business logic, and a
database tier for user and transactional data management. The database server has a 100 GB memory requirement. The business requires cost-efficient disaster
recovery for the application with an RTO of 5 minutes and an RPO of 1 hour. The business also has a regulatory requirement for out-of-region disaster recovery
with a minimum distance between the primary and alternate sites of 250 miles.

Which of the following options can the solutions architect design to create a comprehensive solution for this customer that meets the disaster recovery
requirements?

A. Back up the application and database data frequently and copy them to Amazon S3. Replicate the backups using S3 cross-region replication, and use AWS
Cloud Formation to instantiate infrastructure for disaster recovery and restore data from Amazon S3.

B. Employ a pilot light environment in which the primary database is configured with mirroring to build a standby database on m4.large in lhe alternate regio

C. Use AWS Cloud Formation to instantiate the web servers, application servers, and load balancers in case of a disaster to bring the application up in the
alternate regio

D. Vertically resize the database to meet the full production demands, and use Amazon Route 53 to switch traffic to the alternate region.

E. Use a scaled-down version of the fully functional production environment in the alternate region that includes one instance of the web server, one instance of
the application server, and a replicated instance of the database server in standby mod

F. Place the web and the application tiers in an Auto Scaling group behind a load balancer, which can automatically scale when the load arrives to the applicatio
G. Use Amazon Route 53 to switch traffic to the alternate region,

H. Employ a multi-region solution with fully functional we

I. application, and database tiers in both regions with equivalent capacit

J. Activate the primary database in one region only and the standby database in the other regio

K. Use Amazon Route 53 to automatically switch traffic from one region to another using health check routing policies.

Answer: C

Explanation:

As RTO is in minutes

(https://docs.aws.amazon.com/wellarchitected/latest/reliability-pillar/plan-for-disaster-recovery-dr.html ) Warm standby (RPO in seconds, RTO in minutes): Maintain
a scaled-down version of a fully functional environment always running in the DR Region. Business-critical systems are fully duplicated and are always on, but with
a scaled down fleet. When the time comes for recovery, the system is scaled up quickly to handle the production load.

NEW QUESTION 42

- (Exam Topic 1)

A company is deploying a new cluster for big data analytics on AWS. The cluster will run across many Linux Amazon EC2 instances that are spread across
multiple Availability Zones.

All of the nodes in the cluster must have read and write access to common underlying file storage. The file storage must be highly available, must be resilient, must
be compatible with the Portable Operating System Interface (POSIX), and must accommodate high levels of throughput.
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Which storage solution will meet these requirements?

A. Provision an AWS Storage Gateway file gateway NFS file share that is attached to an Amazon S3 bucke

B. Mount the NFS file share on each EC2 instance In the cluster.

C. Provision a new Amazon Elastic File System (Amazon EFS) file system that uses General Purpose performance mod

D. Mount the EFS file system on each EC2 instance in the cluster.

E. Provision a new Amazon Elastic Block Store (Amazon EBS) volume that uses the 102 volume type.Attach the EBS volume to all of the EC2 instances in the
cluster.

F. Provision a new Amazon Elastic File System (Amazon EFS) file system that uses Max 1/O performance mod

G. Mount the EFS file system on each EC2 instance in the cluster.

Answer: D

NEW QUESTION 45

- (Exam Topic 1)

A company has a policy that all Amazon EC2 instances that are running a database must exist within the same subnets in a shared VPC Administrators must
follow security compliance requirements and are not allowed to directly log in to the shared account All company accounts are members of the same organization
in AWS Organizations. The number of accounts will rapidly increase as the company grows.

A solutions architect uses AWS Resource Access Manager to create a resource share in the shared account What is the MOST operationally efficient
configuration to meet these requirements?

A. Add the VPC to the resource shar

B. Add the account IDs as principals

C. Add all subnets within the VPC to the resource shar
D. Add the account IDs as principals

E. Add all subnets within the VPC to the resource shar
F. Add the organization as a principal.

G. Add the VPC to the resource shar

H. Add the organization as a principal

Answer: C

Explanation:

https://docs.aws.amazon.com/ram/latest/userguide/getting-started-sharing.html#getting-started-sharing-create To restrict resource sharing to only principals in
your organization, choose Allow sharing with principals in your organization only.

https://docs.aws.amazon.com/ram/latest/userguide/ram-ug.pdf

NEW QUESTION 46

- (Exam Topic 1)

A company needs to run a software package that has a license that must be run on the same physical host for the duration of Its use. The software package is only
going to be used for 90 days The company requires patching and restarting of all instances every 30 days

How can these requirements be met using AWS?

A. Run a dedicated instance with auto-placement disabled.

B. Run the instance on a dedicated host with Host Affinity set to Host.

C. Run an On-Demand Instance with a Reserved Instance to ensure consistent placement.
D. Run the instance on a licensed host with termination set for 90 days.

Answer: B

Explanation:

Host Affinity is configured at the instance level. It establishes a launch relationship between an instance and a Dedicated Host. (This set which host the instance
can run on) Auto-placement allows you to manage whether instances that you launch are launched onto a specific host, or onto any available host that has
matching configurations. Auto-placement must be configured at the host level. (This sets which instance the host can run.) When affinity is set to Host, an instance
launched onto a specific host always restarts on the same host if stopped. This applies to both targeted and untargeted launches.
https://docs.aws.amazon.com/AWSEC2/latest/UserGuide/how-dedicated-hosts-work.html

When affinity is set to Off, and you stop and restart the instance, it can be restarted on any available host. However, it tries to launch back onto the last Dedicated
Host on which it ran (on a best-effort basis).

NEW QUESTION 48

- (Exam Topic 1)

A multimedia company needs to deliver its video-on-demand (VOD) content to its subscribers in a

cost-effective way. The video files range in size from 1-15 GB and are typically viewed frequently for the first 6 months alter creation, and then access decreases
considerably. The company requires all video files to remain immediately available for subscribers. There are now roughly 30.000 files, and the company
anticipates doubling that number over time.

What is the MOST cost-effective solution for delivering the company's VOD content?

A. Store the video files in an Amazon S3 bucket using S3 Intelligent-Tierin

B. Use Amazon CloudFront to deliver the content with the S3 bucket as the origin.

C. Use AWS Elemental MediaConvert and store the adaptive bitrate video files in Amazon S3. Configure an AWS Elemental MediaPackage endpoint to deliver the
content from Amazon S3.

D. Store the video files in Amazon Elastic File System (Amazon EFS) Standar

E. Enable EFS lifecycle management to move the video files to EFS Infrequent Access after 6 month

F. Create an Amazon EC2 Auto Scaling group behind an Elastic Load Balancer to deliver the content from Amazon EFS.

G. Store the video files in Amazon S3 Standar

H. Create S3 Lifecycle rules to move the video files to S3 Standard-Infrequent Access (S3 Standard-IA) after 6 months and to S3 Glacier Deep Archive after 1 yea
I. Use Amazon CloudFront to deliver the content with the S3 bucket as the origin.

Answer: A
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Explanation:
https://d1.awsstatic.com/whitepapers/amazon-cloudfront-for-media.pdf https://aws.amazon.com/solutions/implementations/video-on-demand-on-aws/

NEW QUESTION 52

- (Exam Topic 1)

A company is migrating an application to AWS. It wants to use fully managed services as much as possible during the migration. The company needs to store
large, important documents within the application with the following requirements:

* 1. The data must be highly durable and available.

* 2. The data must always be encrypted at rest and in transit.

* 3. The encryption key must be managed by the company and rotated periodically.

Which of the following solutions should the solutions architect recommend?

A. Deploy the storage gateway to AWS in file gateway mod

B. Use Amazon EBS volume encryption using an AWS KMS key to encrypt the storage gateway volumes.

C. Use Amazon S3 with a bucket policy to enforce HTTPS for connections to the bucket and to enforce server-side encryption and AWS KMS for object
encryption.

D. Use Amazon DynamoDB with SSL to connect to DynamoD

E. Use an AWS KMS key to encrypt DynamoDB objects at rest.

F. Deploy instances with Amazon EBS volumes attached to store this dat

G. Use ES8S volume encryption using an AWS KMS key to encrypt the data.

Answer: B

Explanation:
Use Amazon S3 with a bucket policy to enforce HTTPS for connections to the bucket and to enforce server-side encryption and AWS KMS for object encryption.

NEW QUESTION 56

- (Exam Topic 1)

An enterprise runs 103 line-of-business applications on virtual machines in an on-premises data center. Many of the applications are simple PHP. Java, or Ruby
web applications, are no longer actively developed, and serve little traffic.

Which approach should be used to migrate these applications to AWS with the LOWEST infrastructure costs?

A. Deploy the applications lo single-instance AWS Elastic Beanstalk environments without a load balancer.

B. Use AWS SMS to create AMIs for each virtual machine and run them in Amazon EC2.

C. Convert each application to a Docker image and deploy to a small Amazon ECS cluster behind an Application Load Balancer.

D. Use VM Import/Export to create AMIs for each virtual machine and run them in single-instance AWS Elastic Beanstalk environments by configuring a custom
image.

Answer: C

NEW QUESTION 60

- (Exam Topic 1)

A company is building a hybrid solution between its existing on-premises systems and a new backend in AWS. The company has a management application to
monitor the state of its current IT infrastructure and automate responses to issues. The company wants to incorporate the status of its consumed AWS services
into the application. The application uses an HTTPS endpoint to receive updates.

Which approach meets these requirements with the LEAST amount of operational overhead?

A. Configure AWS Systems Manager OpsCenter to ingest operational events from the on-premises systems Retire the on-premises management application and
adopt OpsCenter as the hub

B. Configure Amazon EventBridge (Amazon CloudWatch Events) to detect and react to changes for AWS Health events from the AWS Personal Health
Dashboard Configure the EventBridge (CloudWatch Events) event to publish a message to an Amazon Simple Notification Service (Amazon SNS) topic and
subscribe the topic to the HTTPS endpoint of the management application

C. Modify the on-premises management application to call the AWS Health API to poll for status events of AWS services.

D. Configure Amazon EventBridge (Amazon CloudWatch Events) to detect and react to changes for AWS Health events from the AWS Service Health Dashboard
Configure the EventBridge (CloudWatch Events) event to publish a message to an Amazon Simple Notification Service (Amazon SNS) topic and subscribe the
topic to an HTTPS endpoint for the management application with a topic filter corresponding to the services being used

Answer: A

Explanation:

ALB & NLB both supports IPs as targets. Questions is based on TCP traffic over VPN to on-premise. TCP is layer 4 and the , load balancer should be NLB. Then
next questions does NLB supports loadbalcning traffic over VPN. And answer is YEs based on below URL.
https://aws.amazon.com/about-aws/whats-new/2018/09/network-load-balancer-now-supports-aws-vpn/

Target as IPs for NLB & ALB: https://aws.amazon.com/elasticloadbalancing/faqs/?nc=sn&loc=5 https://aws.amazon.com/elasticloadbalancing/application-load-
balancer/

NEW QUESTION 65

- (Exam Topic 2)

A company has several applications running in an on-premises data center. The data center runs a mix of Windows and Linux VMs managed by VMware vCenter.
A solutions architect needs to create a plan to migrate the applications to AWS However, the solutions architect discovers that the documentation for the
applications is not up to date and that mere are no complete infrastructure diagrams The company's developers lack time to discuss their applications and current
usage with the solutions architect

What should the solutions architect do to gather the required information?

A. Deploy the AWS Server Migration Service (AWS SMS) connector using the OVA image on the VMware cluster to collect configuration and utilization data from
the VMs

B. Use the AWS Migration Portfolio Assessment (MPA) tool to connect to each of the VMs to collect the configuration and utilization data.

C. Install the AWS Application Discovery Service on each of the VMs to collect the configuration and utilization data

D. Register the on-premises VMs with the AWS Migration Hub to collect configuration and utilization data
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Answer: A

NEW QUESTION 69

- (Exam Topic 2)

A company is planning to migrate an application from on premises to the AWS Cloud. The company will begin the migration by moving the application's underlying
data storage to AWS The application data is stored on a shared tie system on premises, and the application servers connect to the shared We system through
SMB.

A solutions architect must implement a solution that uses an Amazon S3 bucket tor shared storage Until the application Is fully migrated and code is rewritten to
use native Amazon S3 APIs, the application must continue to have access to the data through SMB The solutions architect must migrate the application data to
AWS to its new location while still allowing the on-premises application to access the data.

Which solution will meet these requirements?

A. Create a new Amazon FSx for Windows File Server fie system Configure AWS DataSync with onelocation tor the on-premises file share and one location for the
new Amazon FSx file system Create a new DataSync task to copy the data from the on-premises file share location to the Amazon FSx file system

B. Create an S3 bucket for the applicatio

C. Copy the data from the on-premises storage to the S3 bucket

D. Deploy an AWS Server Migration Service (AWS SMS) VM to the on-premises environmen

E. Use AWS SMS to migrate the file storage server from on premises to an Amazon EC2 instance

F. Create an S3 bucket for the applicatio

G. Deploy a new AWS Storage Gateway Me gateway on anon-premises V

H. Create a new file share that stores data in the S3 bucket and is associated with the tie gatewa

I. Copy the data from the on-premises storage to the new file gateway endpoint.

Answer: A

NEW QUESTION 74

- (Exam Topic 2)

A company plans to refactor a monolithic application into a modern application designed deployed or AWS. The CLCD pipeline needs to be upgraded to support
the modem design for the application with the following requirements

« It should allow changes to be released several times every hour.

* |t should be able to roll back the changes as quickly as possible Which design will meet these requirements?

A. Deploy a CI-CD pipeline that incorporates AMIs to contain the application and their configurations Deploy the application by replacing Amazon EC2 instances
B. Specify AWS Elastic Beanstak to sage in a secondary environment as the deployment target for the CI/CD pipeline of the applicatio

C. To deploy swap the staging and production environment URLSs.

D. Use AWS Systems Manager to re-provision the infrastructure for each deployment Update the Amazon EC2 user data to pull the latest code art-fact from
Amazon S3 and use Amazon Route 53 weighted routing to point to the new environment

E. Roll out At application updates as pan of an Auto Scaling event using prebuilt AMI

F. Use new versions of the AMIs to add instances, and phase out all instances that use the previous AMI version with the configured termination policy during a
deployment event.

Answer: B

Explanation:
It is the fastest when it comes to rollback and deploying changes every hour

NEW QUESTION 75

- (Exam Topic 2)

A company is deploying a distributed in-memory database on a fleet of Amazon EC2 instances. The fleet consists of a primary node and eight worker nodes. The
primary node is responsible for monitoring cluster health, accepting user requests, distributing user requests to worker nodes and sending an aggregate response
back to a client. Worker nodes communicate with each other to replicate data partitions.

The company requires the lowest possible networking latency to achieve maximum performance. Which solution will meet these requirements?

A. Launch memory optimized EC2 instances in a partition placement group
B. Launch compute optimized EC2 instances in a partition placement group
C. Launch memory optimized EC2 instances in a cluster placement group

D. Launch compute optimized EC2 instances in a spread placement group.

Answer: B

NEW QUESTION 79

- (Exam Topic 2)

A company runs a proprietary stateless ETL application on an Amazon EC2 Linux instance. The application is a Linux binary, and the source code cannot be
modified. The application is single-threaded, uses 2 GB of RAM. and is highly CPU intensive The application is scheduled to run every 4 hours and runs for up to
20 minutes A solutions architect wants to revise the architecture for the solution.

Which strategy should the solutions architect use?

A. Use AWS Lambda to run the applicatio

B. Use Amazon CloudWatch Logs to invoke the Lambda function every 4 hours

C. Use AWS Batch to run the application Use an AWS Step Functions state machine to invoke the AWS Batch job every 4 hours

D. Use AWS Fargate to run the application Use Amazon EventBridge (Amazon CloudWatch Events) to invoke the Fargate task every 4 hours
E. Use Amazon 6C2 Spot Instances to run the application Use AWS CodeDeptoy to deploy and run the application every 4 hours.

Answer: C

NEW QUESTION 80
- (Exam Topic 2)
A company is running a critical application that uses an Amazon RDS for MySQL database to store data. The RDS DB instance is deployed in Multi-AZ mode.
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A recent RDS database failover test caused a 40-second outage to the application A solutions architect needs to design a solution to reduce the outage time to
less than 20 seconds.
Which combination of steps should the solutions architect take to meet these requirements? (Select THREE.)

A. Use Amazon ElastiCache for Memcached in front of the database
B. Use Amazon ElastiCache for Redis in front of the database.

C. Use RDS Proxy in front of the database

D. Migrate the database to Amazon Aurora MySQL

E. Create an Amazon Aurora Replica

F. Create an RDS for MySQL read replica

Answer: BCF

NEW QUESTION 84

- (Exam Topic 2)

A company has migrated an application from on premises to AWS. The application frontend is a static website that runs on two Amazon EC2 instances behind an
Application Load Balancer (ALB). The application backend is a Python application that runs on three EC2 instances behind another ALB. The EC2 instances are
large, general purpose On-Demand Instances that were sized to meet the on-premises specifications for peak usage of the application.

The application averages hundreds of thousands of requests each month. However, the application is used mainly during lunchtime and receives minimal traffic
during the rest of the day.

A solutions architect needs to optimize the infrastructure cost of the application without negatively affecting the application availability.

Which combination of steps will meet these requirements? (Choose two.)

A. Change all the EC2 instances to compute optimized instances that have the same number of cores as the existing EC2 instances.

B. Move the application frontend to a static website that is hosted on Amazon S3.

C. Deploy the application frontend by using AWS Elastic Beanstal

D. Use the same instance type for the nodes.

E. Change all the backend EC2 instances to Spot Instances.

F. Deploy the backend Python application to general purpose burstable EC2 instances that have the same number of cores as the existing EC2 instances.

Answer: BE

NEW QUESTION 85

- (Exam Topic 2)

A company is using an Amazon CloudFront distribution to distribute both static and dynamic content from a web application running behind an Application Load
Balancer The web application requires user authorization and session tracking tor dynamic content The CloudFront distribution has a single cache behavior
configured to forward the Authorization, Host, and Agent HTTP allow list headers and a session cookie to the origin All other cache behavior settings are set to
their default value

A valid ACM certificate is applied to the CloudFront distribution with a matching CNAME in the distribution settings The ACM certificate is also applied to the
HTTPS listener for the Application Load Balancer The CloudFront origin protocol policy is set to HTTPS only Analysis of the cache statistics report shows that the
miss rate for this distribution is very high

What can the solutions architect do to improve the cache hit rate for this distribution without causing the SSL/TLS handshake between CloudFront and the
Application Load Balancer to fail?

A. Create two cache behaviors for static and dynamic content Remove the user-Agent and Host HTTP headers from the allow list headers section on both of the
cache behaviors Remove the session cookie from the allow list cookies section and the Authorization HTTP header from the allow list headers section for cache
behavior configured for static content

B. Remove the user-Agent and Authorization HTTP headers from the allow list headers section of the cache behaviou

C. Then update the cache behaviour to use resigned cookies for authorization

D. Remove the Host HTTP header from the allow list headers section and remove the session cookie from the allow list cookies section for the default cache
behaviour Enable automatic object compression and use Lambda@Edge viewer request events for user authorization

E. Create two cache behaviours for static and dynamic content Remove the User-Agent HTTP header from the allow list headers section on both of the cache
behavioursRemove the session cookie from the allow list cookies section and the Authorization HTTP header from the allow list headers section for cache
behaviour configured for static content

Answer: D

Explanation:
https://docs.aws.amazon.com/AmazonCloudFront/latest/DeveloperGuide/understanding-the-cache-key.html Removing the host header will result in failed flow
between CloudFront and ALB, because they have same certificate.

NEW QUESTION 89

- (Exam Topic 2)

A company runs its application in the eu-west-1 Region and has one account for each of its environments development, testing, and production All the
environments are running 24 hours a day 7 days a week by using stateful Amazon EC2 instances and Amazon RDS for MySQL databases The databases are
between 500 GB and 800 GB in size

The development team and testing team work on business days during business hours, but the production environment operates 24 hours a day. 7 days a week.
The company wants to reduce costs AH resources are tagged with an environment tag with either development, testing, or production as the key.

What should a solutions architect do to reduce costs with the LEAST operational effort?

A. Create an Amazon EventBridge (Amazon CloudWatch Events) rule that runs once every day Configure the rule to invoke one AWS Lambda function that starts
or stops instances based on the tag day and time.

B. Create an Amazon EventBridge (Amazon CloudWatch Events) rule that runs every business day in the evenin

C. Configure the rule to invoke an AWS Lambda function that stops instances based on thetag-Create a second EventBridge (CloudWatch Events) rule that runs
every business day in the morning Configure the second rule to invoke another Lambda function that starts instances based on the tag

D. Create an Amazon EventBridge (Amazon CloudWatch Events) rule that runs every business day in the evening Configure the rule to invoke an AWS Lambda
function that terminates instances based on the tag Create a second EventBridge (CloudWatch Events) rule that runs every business day in the morning Configure
the second rule to invoke another Lambda function that restores the instances from their last backup based on the tag.

E. Create an Amazon EventBridge rule that runs every hou

F. Configure the rule to invoke one AWS Lambda function that terminates or restores instances from their last backup based on the ta
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G. day, and time.

Answer: A

NEW QUESTION 94

- (Exam Topic 2)

A company used Amazon EC2 instances to deploy a web fleet to host a blog site The EC2 instances are behind an Application Load Balancer (ALB) and are
configured in an Auto ScaSng group The web application stores all blog content on an Amazon EFS volume.

The company recently added a feature ‘or Moggers to add video to their posts, attracting 10 times the previous user traffic At peak times of day. users report
buffering and timeout issues while attempting to reach the site or watch videos

Which is the MOST cost-efficient and scalable deployment that win resolve the issues for users?

A. Reconfigure Amazon EFS to enable maximum I/O.

B. Update the Nog site to use instance store volumes tor storag

C. Copy the site contents to the volumes at launch and to Amazon S3 al shutdown.

D. Configure an Amazon CloudFront distributio

E. Point the distribution to an S3 bucket, and migrate the videos from EFS to Amazon S3.

F. Set up an Amazon CloudFront distribution for all site contents, and point the distribution at the ALB.

Answer: C

Explanation:

https://aws.amazon.com/premiumsupport/knowledge-center/cloudfront-https-connection-fails/ Using an Amazon S3 bucket

Using a MediaStore container or a MediaPackage channel Using an Application Load Balancer

Using a Lambda function URL

Using Amazon EC2 (or another custom origin)

Using CloudFront origin groups https://docs.aws.amazon.com/AmazonCloudFront/latest/DeveloperGuide/restrict-access-to-load-balancer.html

NEW QUESTION 96

- (Exam Topic 2)

A company is running an application in the AWS Cloud. Recent application metrics show inconsistent response times and a significant increase in error rates. Calls
to third-party services are causing the delays. Currently, the application calls third-party services synchronously by directly invoking an AWS Lambda function.

A solutions architect needs to decouple the third-party service calls and ensure that all the calls are eventually completed.

Which solution will meet these requirements?

A. Use an Amazon Simple Queue Service (Amazon SQS) queue to store events and invoke the Lambda function.

B. Use an AWS Step Functions state machine to pass events to the Lambda function.

C. Use an Amazon EventBridge rule to pass events to the Lambda function.

D. Use an Amazon Simple Notification Service (Amazon SNS) topic to store events and Invoke the Lambda function.

Answer: A

NEW QUESTION 100

- (Exam Topic 2)

A company has a platform that contains an Amazon S3 bucket for user content. The S3 bucket has thousands of terabytes of objects, all in the S3 Standard
storage class. The company has an RTO of 6 hours The company must replicate the data from its primary AWS Region to a replication S3 bucket in another
Region

The user content S3 bucket contains user-uploaded files such as videos and photos. The user content S3 bucket has an unpredictable access pattern. The
number of users is increasing quickly, and the company wants to create an S3 Lifecycle policy to reduce storage costs

Which combination of steps will meet these requirements MOST cost-effectively'? (Select TWO )

A. Move the objects in the user content S3 bucket to S3 Intelligent-Tiering immediately

B. Move the objects in the user content S3 bucket to S3 Intelligent-Tiering after 30 days

C. Move the objects in the replication S3 bucket to S3 Standard-Infrequent Access (S3 Standard-1A) after 30 days and to S3 Glacier after 90 days

D. Move the objects in the replication S3 bucket to S3 One Zone-Infrequent Access (S3 One Zone-IA) after 30 days and to S3 Glacier Deep Archive after 90 days
E. Move the objects in the replication S3 bucket to S3 Standard-infrequent Access (S3 Standard-IA) after 30 days and to S3 Glacier Deep Archive after 180 days

Answer: AD

NEW QUESTION 104

- (Exam Topic 2)

A financial company is planning to migrate its web application from on premises to AWS. The company uses a third-party security tool to monitor the inbound traffic
to the application. The company has used the security tool for the last 15 years, and the tool has no cloud solutions available from its vendor. The company's
security team is concerned about how to integrate the security tool with AWS technology.

The company plans to deploy the application migration to AWS on Amazon EC2 instances. The EC2 instances will run in an Auto Scaling group in a dedicated
VPC. The company needs to use the security tool to inspect all packets that come in and out of the VPC. This inspection must occur in real time and must not
affect the application's performance. A solutions architect must design a target architecture on AWS that is highly available within an AWS Region.

Which combination of steps should the solutions architect take to meet these requirements? (Select TWO.)

A. Deploy the security tool on EC2 instances in a new Auto Scaling group in the existing VPC.

B. Deploy the web application behind a Network Load Balancer.

C. Deploy an Application Load Balancer in front of the security tool instances.

D. Provision a Gateway Load Balancer for each Availability Zone to redirect the traffic to the security tool.
E. Provision a transit gateway to facilitate communication between VPCs.

Answer: AD

NEW QUESTION 105
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- (Exam Topic 2)

A company has an asynchronous HTTP application that is hosted as an AWS Lambda function. A public Amazon API Gateway endpoint invokes the Lambda
function. The Lambda function and the API Gateway endpoint reside in the us-east-1 Region. A solutions architect needs to redesign the application to support
failover to another AWS Region.

Which solution will meet these requirements?

A. Create an API Gateway endpoint in the us-west-2 Region to direct traffic to the Lambda function in us-east-1. Configure Amazon Route 53 to use a failover
routing policy to route traffic for the two APl Gateway endpoints.

B. Create an Amazon Simple Queue Service (Amazon SQS) queu

C. Configure API Gateway to direct traffic to the SQS queue instead of to the Lambda functio

D. Configure the Lambda function to pull messages from the queue for processing.

E. Deploy the Lambda function to the us-west-2 Regio

F. Create an API Gateway endpoint in us-west-2 to direct traffic to the Lambda function in us-west-2. Configure AWS Global Accelerator and an Application Load
Balancer to manage traffic across the two API Gateway endpoints.

G. Deploy the Lambda function and an API Gateway endpoint to the us-west-2 Regio

H. Configure Amazon Route 53 to use a failover routing policy to route traffic for the two APl Gateway endpoints.

Answer: B

NEW QUESTION 106

- (Exam Topic 2)

A company is processing videos in the AWS Cloud by using Amazon EC2 instances in an Auto Scaling group. It takes 30 minutes to process a video. Several EC2
instances scale in and out depending on the number of videos in an Amazon Simple Queue Service (Amazon SQS) queue.

The company has configured the SQS queue with a redrive policy that specifies a target dead-letter queue and a maxReceiveCount of 1. The company has set the
visibility timeout for the SQS queue to 1 hour. The company has set up an Amazon CloudWatch alarm to notify the development team when there are messages in
the dead-letter queue.

Several times during the day, the development team receives notification that messages are in the dead-letter queue and that videos have not been processed
properly. An investigation finds no errors in the application logs.

How can the company solve this problem?

A. Turn on termination protection for the EC2 instances.

B. Update the visibility timeout for the SOS queue to 3 hours.

C. Configure scale-in protection for the instances during processing.
D. Update the redrive policy and set maxReceiveCount to O.

Answer: D

NEW QUESTION 109

- (Exam Topic 2)

A company has an application Once a month, the application creates a compressed file that contains every object within an Amazon S3 bucket The total size of
the objects before compression is 1 TB.

The application runs by using a scheduled cron job on an Amazon EC2 instance that has a 5 TB Amazon Elastic Block Store (Amazon EBS) volume attached The
application downloads all the files from the source S3 bucket to the EBS volume, compresses the file, and uploads the file to a target S3 bucket Every invocation of
the application takes 2 hours from start to finish

Which combination of actions should a solutions architect take to OPTIMIZE costs for this application? (Select TWO.)

A. Migrate the application to run an AWS Lambda function Use Amazon EventBridge (Amazon CloudWatch Events) to schedule the Lambda function to run once
each month

B. Configure the application to download the source files by using streams Direct the streams into a compression library Direct the output of the compression
library into a target object in Amazon S3

C. Configure the application to download the source files from Amazon S3 and save the files to local storage Compress the files and upload them to Amazon S3
D. Configure the application to run as a container in AWS Fargate Use Amazon EventBridge (Amazon CloudWatch Events) to schedule the task to run once each
month

E. Provision an Amazon Elastic File System (Amazon EFS) file system Attach the file system to the AWS Lambda function

Answer: CD

NEW QUESTION 114

- (Exam Topic 2)

A company is running applications on AWS in a multi-account environment. The company's sales team and marketing team use separate AWS accounts in AWS
Organizations.

The sales team stores petabytes of data in an Amazon S3 bucket. The marketing team uses Amazon QuickSight for data visualizations. The marketing team
needs access to data that the sates team stores in the S3 bucket. The company has encrypted the S3 bucket with an AWS Key Management Service (AWS KMS)
key. The marketing team has already created the IAM service role for QuickSight to provide QuickSight access in the marketing AWS account. The company
needs a solution that will provide secure access to the data in the S3 bucket across AWS accounts.

Which solution will meet these requirements with the LEAST operational overhead?

. Create a new S3 bucket in the marketing accoun

. Create an S3 replication rule in the sales account to copy the objects to the new S3 bucket in the marketing accoun
. Update the QuickSight permissions in the marketing account to grant access to the new S3 bucket.

. Create an SCP to grant access to the S3 bucket to the marketing accoun

Use AWS Resource Access Manager (AWS RAM) to share the KMS key from the sates account with the marketing accoun
. Update the QuickSight permissions in the marketing account to grant access to the S3 bucket.

. Update the S3 bucket policy in the marketing account to grant access to the QuickSight rol

. Create a KMS grant for the encryption key that is used in the S3 bucke

I. Grant decrypt access to the QuickSight rol

J. Update the QuickSight permissions in the marketing account to grant access to the S3 bucket.

K. Create an 1AM role in the sales account and grant access to the S3 bucke

L. From the marketing account,assume the 1AM role in the sales account to access the S3 bucke

M. Update the QuickSight rote, to create a trust relationship with the new 1AM role in the sales account.

IOMMmMmOoOOm>
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Answer: D

NEW QUESTION 117

- (Exam Topic 2)

A solutions architect needs to provide AWS Cost and Usage Report data from a company's AWS Organizations management account The company already has
an Amazon S3 bucket to store the reports The reports must be automatically ingested into a database that can be visualized with other toots.

Which combination of steps should the solutions architect take to meet these requirements? (Select THREE )

A. Create an Amazon EventBridge (Amazon CloudWatch Events) rule that a new object creation in the S3 bucket will trigger

B. Create an AWS Cost and Usage Report configuration to deliver the data into the S3 bucket

C. Configure an AWS Glue crawler that a new object creation in the S3 bucket will trigger.

D. Create an AWS Lambda function that a new object creation in the S3 bucket will trigger

E. Create an AWS Glue crawler that me AWS Lambda function will trigger to crawl objects in me S3 bucket

F. Create an AWS Glue crawler that the Amazon EventBridge (Amazon CloudWatCh Events) rule will trigger to crawl objects m the S3 bucket

Answer: BDF

NEW QUESTION 120

- (Exam Topic 2)

A solutions architect needs to review the design of an Amazon EMR cluster that is using the EMR File System (EMRFS). The cluster performs tasks that are
critical to business needs. The cluster is running Amazon EC2 On-Demand Instances at all times for all task, master, and core nodes The EMR tasks run each
morning, starting at 1:00 AM, and take 6 hours to finish running. The amount of time to complete the processing is not a priority because the data is not referenced
until late in the day.

The solutions architect must review the architecture and suggest a solution to minimize the compute costs Which solution should the solutions architect
recommend to meet these requirements?

A. Launch all task, master, and core nodes on Spot Instances in an instance flee
B. Terminate the cluster, including all instances, when the processing is completed.
C. Launch the master and core nodes on On-Demand Instance

D. Launch the task nodes on Spot Instances In an instance flee

E. Terminate the cluster, including all instances, when the processing is complete
F. Purchase Compute Savings Plans to cover the On-Demand Instance usage.

G. Continue to launch all nodes on On-Demand Instance

H. Terminate the cluste

I. Including all instances, when the processing Is complete

J. Purchase Compute Savings Plans to cover the On-Demand Instance usage.

K. Launch the master and core nodes on On-Demand Instance

L. Launch the task nodes on Spot Instances In an instance flee

M. Terminate only the task node Instances when the processing is completed Purchase Compute Savings Plans to cover the On-Demand Instance usage.

Answer: B

NEW QUESTION 123

- (Exam Topic 2)

A company wants to migrate its data analytics environment from on premises to AWS The environment consists of two simple Node js applications One of the
applications collects sensor data and loads it into a MySQL database The other application aggregates the data into reports When the aggregation jobs run. some
of the load jobs fail to run correctly

The company must resolve the data loading issue The company also needs the migration to occur without interruptions or changes for the company's customers
What should a solutions architect do to meet these requirements?

A. Set up an Amazon Aurora MySQL database as a replication target for the on-premises database Create an Aurora Replica for the Aurora MySQL database, and
move the aggregation jobs to run against theAurora Replica Set up collection endpomts as AWS Lambda functions behind a Network Load Balancer (NLB). and
use Amazon RDS Proxy to wnte to the Aurora MySQL database When the databases are synced disable the replication job and restart the Aurora Replica as the
primary instanc

B. Point the collector DNS record to the NLB.

C. Set up an Amazon Aurora MySQL database Use AWS Database Migration Service (AWS DMS) to perform continuous data replication from the on-premises
database to Aurora Move the aggregation jobs to run against the Aurora MySQL database Set up collection endpomts behind an Application Load Balancer (ALB)
as Amazon EC2 instances in an Auto Scaling group When the databases are synced, point the collector DNS record to the ALB Disable the AWS DMS sync task
after the cutover from on premises to AWS

D. Set up an Amazon Aurora MySQL database Use AWS Database Migration Service (AWS DMS) to perform continuous data replication from the on-premises
database to Aurora Create an Aurora Replica for the Aurora MySQL database and move the aggregation jobs to run against the Aurora Replica Set up collection
endpoints as AWS Lambda functions behind an Application Load Balancer (ALB) and use Amazon RDS Proxy to write to the Aurora MySQL database When the
databases are synced, point the collector DNS record to the ALB Disable the AWS DMS sync task after the cutover from on premises to AWS

E. Set up an Amazon Aurora MySQL database Create an Aurora Replica for the Aurora MySQL database and move the aggregation jobs to run against the Aurora
Replica Set up collection endpoints as an Amazon Kinesis data stream Use Amazon Kinesis Data Firehose to replicate the data to the Aurora MySQL database
When the databases are synced disable the replication job and restart the Aurora Replica as the primary instance Point the collector DNS record to the Kinesis
data stream.

Answer: C

Explanation:

Set up an Amazon Aurora MySQL database. Use AWS Database Migration Service (AWS DMS) to perform continuous data replication from the on-premises
database to Aurora. Create an Aurora Replica for the Aurora MySQL database, and move the aggregation jobs to run against the Aurora Replica. Set up collection
endpoints as AWS Lambda functions behind an Application Load Balancer (ALB), and use Amazon RDS Proxy to write to the Aurora MySQL database. When the
databases are synced, point the collector DNS record to the ALB. Disable the AWS DMS sync task after the cutover from on premises to AWS.

Amazon RDS Proxy allows applications to pool and share connections established with the database, improving database efficiency and application scalability.
With RDS Proxy, failover times for Aurora and RDS databases are reduced by up to 66%

NEW QUESTION 126
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- (Exam Topic 2)

A company is deploying a third-party firewall appliance solution from AWS Marketplace to monitor and protect traffic that leaves the company's AWS environments.
The company wants to deploy this appliance into a shared services VPC and route all outbound internet-bound traffic through the appliances.

A solutions architect needs to recommend a deployment method that prioritizes reliability and minimizes failover time between firewall appliances within a single
AWS Region. The company has set up routing from the shared services VPC to other VPCs.

Which steps should the solutions architect recommend to meet these requirements? (Select THREE)

A. Deploy two firewall appliances into the shared services VP

B. each in a separate Availability Zone

C. Create a new Network Load Balancer in the shared services VPC Create a new target group, and attach it to the new Network Load Balancer Add each of the
firewall appliance instances to the target group.

D. Create a new Gateway Load Balancer in the shared services VPC Create a new target group, and attach it to the new Gateway Load Balancer Add each of the
firewall appliance instances to the target group

E. Create a VPC interface endpoint Add a route to the route table in the shared services VP

F. Designate the new endpoint as the next hop for traffic that enters the shared services VPC from other VPCs.

G. Deploy two firewall appliances into the shared services VP

H. each in the same Availability Zone

Answer: AC

NEW QUESTION 129

- (Exam Topic 2)

A video streaming company recently launched a mobile app for video sharing. The app uploads various files to an Amazon S3 bucket in the us-east-1 Region. The
files range in size from 1 GB to 1 0 GB.

Users who access the app from Australia have experienced uploads that take long periods of time Sometimes the files fail to completely upload for these users . A
solutions architect must improve the app' performance for these uploads

Which solutions will meet these requirements? (Select TWO.)

A. Enable S3 Transfer Acceleration on the S3 bucket Configure the app to use the Transfer Acceleration endpoint for uploads
B. Configure an S3 bucket in each Region to receive the upload

C. Use S3 Cross-Region Replication to copy the files to the distribution S3 bucket.

D. Set up Amazon Route 53 with latency-based routing to route the uploads to the nearest S3 bucket Region.

E. Configure the app to break the video files into chunks Use a multipart upload to transfer files to Amazon S3.

F. Modify the app to add random prefixes to the files before uploading

Answer: AD

Explanation:
https://aws.amazon.com/premiumsupport/knowledge-center/s3-upload-large-files/

NEW QUESTION 133

- (Exam Topic 2)

A company gives users the ability to upload images from a custom application. The upload process invokes an AWS Lambda function that processes and stores
the image in an Amazon S3 bucket. The application invokes the Lambda function by using a specific function version ARN.

The Lambda function accepts image processing parameters by using environment variables. The company often adjusts the environment variables of the Lambda
function to achieve optimal image processing output. The company tests different parameters and publishes a new function version with the updated environment
variables after validating results. This update process also requires frequent changes to the custom application to invoke the new function version ARN. These
changes cause interruptions for users.

A solutions architect needs to simplify this process to minimize disruption to users. Which solution will meet these requirements with the LEAST operational
overhead?

A. Directly modify the environment variables of the published Lambda function versio

B. Use the SLATEST version to test image processing parameters.

C. Create an Amazon DynamoDB table to store the image processing parameter

D. Modify the Lambda function to retrieve the image processing parameters from the DynamoDB table.

E. Directly code the image processing parameters within the Lambda function and remove the environment variable
F. Publish a new function version when the company updates the parameters.

G. Create a Lambda function alia

H. Modify the client application to use the function alias AR

I. Reconfigure the Lambda alias to point to new versions of the function when the company finishes testing.

Answer: D

NEW QUESTION 135

- (Exam Topic 2)

A company hosts a web application on AWS in the us-east-1 Region. The application servers are distributed across three Availability Zones behind an Application
Load Balancer The database is hosted in a MySQL database on an Amazon EC2 instance A solutions architect needs to design a cross-Region data recovery
solution using AWS services with an RTO of less than 5 minutes and an RPO of less than 1 minute. The solutions architect is deploying application servers in us-
west-2 and has configured Amazon Route 53 health checks and DNS failover to us-west-2.

Which additional step should the solutions architect take?

A. Migrate the database to an Amazon RDS for MySQL instance with a cross-Region read replica in us-west-2

B. Migrate the database to an Amazon Aurora global database with the primary in us-east-1 and the secondary in us-west-2
C. Migrate the database to an Amazon RDS for MySQL instance with a Multi-AZ deployment

D. Create a MySQL standby database on an Amazon EC2 instance in us-west-2

Answer: C

NEW QUESTION 138
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- (Exam Topic 2)

A company is subject to regulatory audits of its financial information. External auditors who use a single AWS account need access to the company's AWS
account. A solutions architect must provide the auditors with secure, read-only access to the company's AWS account. The solution must comply with AWS
security best practices.

Which solution will meet these requirements?

A. In the company's AWS account, create resource policies for all resources in the account to grant access to the auditors' AWS accoun

B. Assign a unigue external ID to the resource policy.

C. In the company's AWS account create an 1AM role that trusts the auditors’ AWS account Create an 1AM policy that has the required permission

D. Attach the policy to the rol

E. Assign a unigue external ID to the role's trust policy.

F. In the company's AWS account, create an 1AM use

G. Attach the required 1AM policies to the 1AM user.Create API access keys for the 1AM use

H. Share the access keys with the auditors.

I. In the company's AWS account, create an 1AM group that has the required permissions Create an 1AM user in the company s account for each audito
J. Add the 1AM users to the 1AM group.

Answer: B

NEW QUESTION 143

- (Exam Topic 2)

A company has introduced a new policy that allows employees to work remotely from their homes if they connect by using a VPN The company Is hosting Internal
applications with VPCs in multiple AWS accounts Currently the applications are accessible from the company's on-premises office network through an AWS Site-to-
Site VPN connection The VPC in the company's main AWS account has peering connections established with VPCs in other AWS accounts.

A solutions architect must design a scalable AWS Client VPN solution for employees to use while they work from home

What is the MOST cost-effective solution that meets these requirements?

A. Create a Client VPN endpoint in each AWS account Configure required routing that allows access to internal applications

B. Create a Client VPN endpoint in the mam AWS account Configure required routing that allows access to internal applications

C. Create a Client VPN endpoint in the main AWS account Provision a transit gateway that is connected to each AWS account Configure required routing that
allows access to internal applications

D. Create a Client VPN endpoint in the mam AWS account Establish connectivity between the Client VPN endpoint and the AWS Site-to-Site VPN

Answer: B

Explanation:
https://docs.aws.amazon.com/vpn/latest/clientvpn-admin/scenario-peered.html

NEW QUESTION 144

- (Exam Topic 2)

A company runs a highly available data collection application on Amazon EC2 in the eu-north-1 Region. The application collects data from end-user devices and
writes records to an Amazon Kinesis data stream and a set of AWS Lambda functions that process the records The company persists the output of the record
processing to an Amazon S3 bucket in eu-north-1. The company uses the data in the S3 bucket as a data source for Amazon Athena

A. In each of the Iwo new Regions set up the Lambda functions to run in a VPC Set up an S3 gateway endpoint in that VPC

B. Turn on S3 Transfer Acceleration on the S3 bucket in eu-north-1 Change the application to use the new S3 accelerated endpoint when the application uploads
data to the S3 bucket

C. Create an S3 bucket in each of the two new Regions Set the application in each new Region to upload to its respective S3 bucket Set up S3 Cross-Region
Replication to replicate data to the S3 bucket ineu-north-1

D. Increase the memory requirements of the Lambda functions to ensure that they have multiple cores available Use the multipart upload feature when the
application uploads data to Amazon S3 Lambda

Answer: A

NEW QUESTION 147

- (Exam Topic 2)

A company has deployed an application on AWS Elastic Beanstalk. The application uses Amazon Aurora for the database layer. An Amazon CloudFront
distribution serves web requests and includes the Elastic Beanstalk domain name as the origin server. The distribution is configured with an alternate domain
name that visitors use when they access the application.

Each week, the company takes the application out of service for routine maintenance. During the time that the application is unavailable, the company wants
visitors to receive an informational message instead of a CloudFront error message.

A solutions architect creates an Amazon S3 bucket as the first step in the process.

Which combination of steps should the solutions architect take next to meet the requirements? (Choose three.)

. Upload static informational content to the S3 bucket.
. Create a new CloudFront distributio
. Set the S3 bucket as the origin.
. Set the S3 bucket as a second origin in the original CloudFront distributio
. Configure the distribution and the S3 bucket to use an origin access identity (OAl).
During the weekly maintenance, edit the default cache behavior to use the S3 origi
. Revert the change when the maintenance is complete.
. During the weekly maintenance, create a cache behavior for the S3 origin on the new distributio
I. Set the path pattern to \ Set the precedence to 0. Delete the cache behavior when the maintenance is complete.
J. During the weekly maintenance, configure Elastic Beanstalk to serve traffic from the S3 bucket.

ITOGMMmMOO®>

Answer: ACD

NEW QUESTION 149
- (Exam Topic 2)
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A company operates a proxy server on a fleet of Amazon EC2 instances. Partners in different countries use the proxy server to test the company's functionality.
The EC2 instances are running in a VPC. and the instances have access to the internet.

The company's security policy requires that partners can access resources only from domains that the company owns.

Which solution will meet these requirements?

A. Create an Amazon Route 53 Resolver DNS Firewall domain list that contains the allowed domains.Configure a DNS Firewall rule group with a rule that has a
high numeric value that blocks all request

B. Configure a rule that has a low numeric value that allows requests for domains in the allowed lis

C. Associate the rule group with the VPC.

D. Create an Amazon Route 53 Resolver DNS Firewall domain list that contains the allowed domains.Configure a Route 53 outbound endpoin
E. Associate the outbound endpoint with the VP

F. Associate thedomain list with the outbound endpoint.

G. Create an Amazon Route 53 traffic flow policy to match the allowed domain

H. Configure the traffic flow policy to forward requests that match to the Route 53 Resolve

I. Associate the traffic flow policy with the VPC.

J. Create an Amazon Route 53 outbound endpoin

K. Associate the outbound endpoint with the VP

L. Configure a Route 53 traffic flow policy to forward requests for allowed domains to the outbound endpoin

M. Associate the traffic flow policy with the VPC.

Answer: B

NEW QUESTION 154

- (Exam Topic 2)

A large multinational company runs a timesheet application on AWS that is used by staff across the world The application runs on Amazon EC2 instances in an
Auto Scaling group behind an Elastic Load Balancing (ELB) load balancer, and stores data in an Amazon RDS MySQL Multi-AZ database instance.

The CFO is concerned about the impact on the business if the application is not available The application must not be down for more than two hours, but the
solution must be as cost-effective as possible

How should the solutions architect meet the CFO's requirements while minimizing data loss?

A. In another region, configure a read replica and create a copy of the infrastructure When an issue occurs, promote the read replica and configure as an Amazon
RDS Multi-AZ database instance Update the DNS record to point to the other region's ELB

B. Configure a 1-day window of 60-minute snapshots of the Amazon RDS Multi-AZ database instance Create an AWS CloudFormation template of the
applicationinfrastructure that uses the latest snapshot When an issue occurs use the AWS CloudFormation template to create the environment in another region
Update the DNS record to point to the other region's ELB.

C. Configure a 1-day window of 60 minute snapshots of the Amazon RDS Multi-AZ database instance which is copied to another region Create an AWS
CloudFormation template of the application infrastructure that uses the latest copied snapshot When an issue occurs, use the AWS CloudFormation template to
create the environment in another region Update the DNS record to point to the other region's ELB

D. Configure a read replica in another region Create an AWS CloudFormation template of the application infrastructure When an issue occurs, promote the read
replica and configure as an Amazon RDSMulti-AZ database instance and use the AWS CloudFormation template to create the environment inanother region using
the promoted Amazon RDS instance Update the DNS record to point to the other region's ELB

Answer: D

NEW QUESTION 158

- (Exam Topic 2)

A large company has a business-critical application that runs in a single AWS Region The application consists of multiple Amazon EC2 instances and an Amazon
RDS Multi-AZ DB instance The EC2 instances run In an Amazon EC2 Auto Scaling group across multiple Availability Zones

A solutions architect is implementing a disaster recovery (DR) plan for the application The solutions architect has created a pilot light application deployment in a

new Region, which is referred to as the DR Region The DR environment has an Auto Scaling group with a single EC2 instance and a read replica of the RDS DB
instance

The solutions architect must automate a failover from the primary application environment to the pilot light environment in the DR Region

Which solution meets these requirements with the MOST operational efficiency”

A. Publish an application availability metric to Amazon CloudWatch in the DR Region from the application environment in the primary Region Create a CloudWatch
alarm in the DR Region that is invoked when the application availability metric stops being delivered Configure the CloudWatch alarm to send a notification to an
Amazon Simple Notification Service (Amazon SNS> topic in the DR Region Add an email subscription to the SNS topic that sends messages to the application
owner upon notification, instruct a systems operator to sign in to the AWS Management Console and initiate failover operations for the application

B. Create a cron task that runs every 5 minutes by using one of the application's EC2 instances in the primary Region Configure the cron task to check whether the
application is available Upon failure, the cron task notifies a systems operator and attempts to restart the application services

C. Create a cron task that runs every 5 minutes by using one of the application's EC2 instances in the primary Region Configure the cron task to check whether
theapplication is available Upon failure, the cron task modifies the DR environment by promoting the read replica and by adding EC2 instances to the Auto Scaling
group

D. Publish an application availability metric to Amazon CloudWatch in the DR Region from the application environment in the primary Region Create a CloudWatch
alarm in the DR Region that is invoked when the application availability metric stops being delivered Configure the CloudWatch alarm to send a notification to an
Amazon Simple Notification Service (Amazon SNS) topic in the DR Region Use an AWS Lambda function that is invoked by Amazon SNS in the DR Region to
promote the read replica and to add EC2 instances to the Auto Scaling group

Answer: D

NEW QUESTION 163

- (Exam Topic 2)

A company has more than 10.000 sensors that send data to an on-premises Apache Kafka server by using the Message Queuing Telemetry Transport (MQTT)
protocol . The on-premises Kafka server transforms the data and then stores the results as objects in an Amazon S3 bucket

Recently, the Kafka server crashed. The company lost sensor data while the server was being restored A

solutions architect must create a new design on AWS that is highly available and scalable to prevent a similar occurrence

Which solution will meet these requirements?

A. Launch two Amazon EC2 instances to host the Kafka server in an active/standby configuration across two Availability Zone
B. Create a domain name in Amazon Route 53 Create a Route 53 failover policy Route the sensors to send the data to the domain name
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C. Migrate the on-premises Kafka server to Amazon Managed Streaming for Apache Kafka (Amazon MSK). Create a Network Load Balancer (NLB) that points to
the Amazon MSK broke

D. Enable NLB health checks Route the sensors to send the data to the NLB.

E. Deploy AWS loT Core, and connect it to an Amazon Kinesis Data Firehose delivery stream Use an AWS Lambda function to handle data transformation Route
the sensors to send the data to AWS loT Core

F. Deploy AWS IoT Core, and launch an Amazon EC2 instance to host the Kafka server Configure AWS IoT Core to send the data to the EC2 instance Route the
sensors to send the data to AWSIoT Core.

Answer: A

NEW QUESTION 168

- (Exam Topic 2)

A solutions architect has been assigned to migrate a 50 TB Oracle data warehouse that contains sales data from on-premises to Amazon Redshift Major updates
to the sales data occur on the final calendar day of the month For the remainder of the month, the data warehouse only receives minor daily updates and is
primarily used for reading and reporting Because of this the migration process must start on the first day of the month and must be complete before the next set of
updates occur. This provides approximately 30 days to complete the migration and ensure that the minor daily changes have been synchronized with the Amazon
Redshift data warehouse Because the migration cannot impact normal business network operations, the bandwidth allocated to the migration for moving data over
the internet is 50 Mbps The company wants to keep data migration costs low

Which steps will allow the solutions architect to perform the migration within the specified timeline?

A. Install Oracle database software on an Amazon EC2 instance Configure VPN connectivity between AWS and the company's data center Configure the Oracle
database running on Amazon EC2 to join the Oracle Real Application Clusters (RAC) When the Oracle database on Amazon EC2 finishes synchronizing, create
an AWS DMS ongoing replication task to migrate the data from the Oracle database on Amazon EC2 to Amazon Redshift Verify the data migration is complete
and perform the cut over to Amazon Redshift.

B. Create an AWS Snowball import job Export a backup of the Oracle data warehouse Copy the exported data to the Snowball device Return the Snowball device
to AWS Create an Amazon RDS for Oracle database and restore the backup file to that RDS instance Create an AWS DMS task to migrate the data from the RDS
for Oracle database to Amazon Redshift Copy daily incremental backups from Oracle in the data center to the RDS for Oracle database over the internet Verify the
data migration is complete and perform the cut over to Amazon Redshift.

C. Install Oracle database software on an Amazon EC2 instance To minimize the migration time configure VPN connectivity between AWS and the company's
data center by provisioning a 1 Gbps AWS Direct Connect connection Configure the Oracle database running on Amazon EC2 to be a read replica of the data
center Oracle database Start the synchronization process between the company's on-premises data center and the Oracle database on Amazon EC2 When the
Oracle database on Amazon EC2 is synchronized with the on-premises database create an AWS DMS ongoing replication task from the Oracle database read
replica that is running on Amazon EC2 to Amazon Redshift Verify the data migration is complete and perform the cut over to Amazon Redshift.

D. Create an AWS Snowball import jo

E. Configure a server in the company€™s data center with an extraction agen

F. Use AWS SCT to manage the extraction agent and convert the Oracle schema to an Amazon Redshift schem

G. Create a new project in AWS SCT using the registered data extraction agen

H. Create a local task and an AWS DMS task in AWS SCT with replication of ongoing change

I. Copy data to the Snowball device and return the Snowball device to AW

J. Allow AWS DMS to copy data from Amazon S3 to Amazon Redshif

K. Verify that the data migration is complete and perform the cut over to Amazon Redshift.

Answer: D

Explanation:

Create an AWS Snowball import job. Configure a server in the company€™s data center with an extraction agent. Use AWS SCT to manage the extraction agent
and convert the Oracle schema to an Amazon Redshift schema. Create a new project in AWS SCT using the registered data extraction agent. Create a local task
and an AWS DMS task in AWS SCT with replication of ongoing changes. Copy data to the Snowball device and return the Snowball device to AWS. Allow AWS
DMS to copy data from Amazon S3 to Amazon Redshift. Verify that the data migration is complete and perform the cut over to Amazon Redshift.
https://aws.amazon.com/getting-started/hands-on/migrate-oracle-to-amazon-redshift/

NEW QUESTION 170

- (Exam Topic 2)

A company has an application that runs on Amazon EC2 instances. A solutions architect is designing VPC infrastructure in an AWS Region where the application
needs to access an Amazon Aurora DB cluster. The EC2 instances are all associated with the same security group. The DB cluster is associated with its own
security group.

The solutions architect needs to add rules to the security groups to provide the application with least privilege access to the DB cluster.

Which combination of steps will meet these requirements? (Select TWO.)

A. Add an inbound rule to the EC2 instances' security grou

B. Specify the DB cluster's security group as the source over the default Aurora port.

C. Add an outbound rule to the EC2 instances' security grou

D. Specify the DB cluster's security group as the destination over the default Aurora port.

E. Add an inbound rule to the DB cluster's security grou

F. Specify the EC2 instances' security group as the source over the default Aurora port.

G. Add an outbound rule to the DB cluster's security grou

H. Specify the EC2 instances' security group as the destination over the default Aurora port.
I. Add an outbound rule to the DB cluster's security grou

J. Specify the EC2 instances' security group as the destination over the ephemeral ports.

Answer: AB

NEW QUESTION 175

- (Exam Topic 2)

A company is migrating its data centre from on premises to the AWS Cloud. The migration will take several months to complete. The company will use Amazon
Route 53 for private DNS zones.

During the migration, the company must Keep its AWS services pointed at the VPC's Route 53 Resolver for DNS. The company also must maintain the ability to
resolve addresses from its on-premises DNS server A solutions architect must set up DNS so that Amazon EC2 instances can use native Route 53 endpoints to
resolve on-premises DNS queries

Which configuration writ meet these requirements?
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A. Configure Vie VPC DHCP options set to point to on-premises DNS server IP addresse

B. Ensure that security groups for EC2 instances allow outbound access to port 53 on those DNS server IP addresses.

C. Launch an EC2 instance that has DNS BIND installed and configure

D. Ensure that the security groups that are attached to the EC2 instance can access the on-premises DNS server IP address on port 53. Configure BIND to
forward DNS queries to on-premises DNS server IP addresses Configure each migrated EC2 instances DNS settings to point to the BIND server IP address.

E. Create a new outbound endpoint in Route 53. and attach me endpoint to the VP

F. Ensure that the security groups that are attached to the endpoint can access the on-premises DNS server IP address on port 53 Create a new Route 53
Resolver rule that routes on-premises designated traffic to theon-premises DNS server.

G. Create a new private DNS zone in Route 53 with the same domain name as the on-premises domain.Create a single wildcard record with the on-premises DNS
server |IP address as the record's address.

Answer: A

NEW QUESTION 178

- (Exam Topic 2)

A company is running an application in the AWS Cloud. The application consists of microservices that run on a fleet of Amazon EC2 instances in multiple
Availability Zones behind an Application Load Balancer. The company recently added a new REST API that was implemented in Amazon API Gateway. Some of
the older microservices that run on EC2 instances need to call this new API

The company does not want the API to be accessible from the public internet and does not want proprietary data to traverse the public internet

What should a solutions architect do to meet these requirements?

A. Create an AWS Site-to-Site VPN connection between the VPC and the APl Gateway Use API Gateway to generate a unique API key for each microservic

B. Configure the APl methods to require the key.

C. Create an interface VPC endpoint for APl Gateway, and set an endpoint policy to only allow access to the specific API Add a resource policy to API Gateway to
only allow access from the VPC endpoint Change the API Gateway endpoint type to private.

D. Modify the API Gateway to use IAM authentication Update the IAM policy for the IAM role that is assigned to the EC2 instances to allow access to the API
Gateway Move the API Gateway into a newVPC Deploy a transit gateway and connect the VPCs.

E. Create an accelerator in AWS Global Accelerator and connect the accelerator to the API Gateway.Update the route table for all VPC subnets with a route to the
created Global Accelerator endpoint IP addres

F. Add an API key for each service to use for authentication.

Answer: B

NEW QUESTION 179

- (Exam Topic 2)

A company has an on-premises monitoring solution using a PostgreSQL database for persistence of events. The database is unable to scale due to heavy
ingestion and it frequently runs out of storage.

The company wants to create a hybrid solution and has already set up a VPN connection between its network and AWS. The solution should include the following
attributes:

» Managed AWS services to minimize operational complexity

* A buffer that automatically scales to match the throughput of data and requires no on-going administration.

* A visualization toot to create dashboards to observe events in near-real time.

* Support for semi -structured JSON data and dynamic schemas.

Which combination of components will enabled© company to create a monitoring solution that will satisfy these requirements” (Select TWO.)

A. Use Amazon Kinesis Data Firehose to buffer events Create an AWS Lambda function 10 process and transform events

B. Create an Amazon Kinesis data stream to buffer events Create an AWS Lambda function to process and transform evens

C. Configure an Amazon Aurora PostgreSQL DB cluster to receive events Use Amazon Quick Sight to read from the database and create near-real-time
visualizations and dashboards

D. Configure Amazon Elasticsearch Service (Amazon ES) to receive events Use the Kibana endpoint deployed with Amazon ES to create near-real-time
visualizations and dashboards.

E. Configure an Amazon Neptune 0 DB instance to receive events Use Amazon QuickSight to read from the database and create near-real-time visualizations and
dashboards

Answer: AD

Explanation:
https://aws.amazon.com/kinesis/data-firehose/fags/

NEW QUESTION 183

- (Exam Topic 2)

An auction website enables users to bid on collectible items The auction rules require that each bid is processed only once and in the order it was received The
current implementation is based on a fleet of Amazon EC2 web servers that write bid records into Amazon Kinesis Data Streams A single 12 large instance has a
cron job that runs the bid processor, which reads incoming bids from Kinesis Data Streams and processes each bid The auction site is growing in popularity, but
users are complaining that some bids are not registering

Troubleshooting indicates that the bid processor is too slow during peak demand hours sometimes crashes while processing and occasionally loses track of which
record is being processed

What changes should make the bid processing more reliable?

A. Refactor the web application to use the Amazon Kinesis Producer Library (KPL) when posting bids to Kinesis Data Streams Refactor the bid processor to flag
each record in Kinesis Data Streams as being unread processing and processed At the start of each bid processing run; scan Kinesis Data Streams for
unprocessed records

B. Refactor the web application to post each incoming bid to an Amazon SNS topic in place of Kinesis Data Streams Configure the SNS topic to trigger an AWS
Lambda function that

C. processes each bid as soon as a user submits it

D. Refactor the web application to post each incoming bid to an Amazon SQS FIFO queue in place of Kinesis Data Streams Refactor the bid processor to
continuously consume the SQS queue Place the bid processing EC2 instance in an Auto Scaling group with a minimum and a maximum size of 1

E. Switch the EC2 instance type from t2 large to a larger general compute instance type Put the bid processor EC2 instances in an Auto Scaling group that scales
out the number of EC2 instances running the bid processor based on the incomingRecords metric in Kinesis Data Streams
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Answer: C

Explanation:
https://aws.amazon.com/sqs/fags/#:.~:text=A%20single%20Amazon%20SQS%20message,20%2C000%20for%?2

NEW QUESTION 188

- (Exam Topic 2)

A solutions architect needs to copy data from an Amazon S3 bucket m an AWS account to a new S3 bucket in a new AWS account. The solutions architect must
implement a solution that uses the AWS CLI.

Which combination of steps will successfully copy the data? (Choose three.)

A. Create a bucket policy to allow the source bucket to list its contents and to put objects and set object ACLs in the destination bucke

B. Attach the bucket policy to the destination bucket.

C. Create a bucket policy to allow a user In the destination account to list the source bucket's contents and read the source bucket's object

D. Attach the bucket policy to the source bucket.

E. Create an IAM policy in the source accoun

F. Configure the policy to allow a user In the source account to list contents and get objects In the source bucket, and to list contents, put objects, and set object
ACLs in the destination bucke

G. Attach the policy to the user _

H. Create an IAM policy in the destination accoun

I. Configure the policy to allow a user In the destination account to list contents and get objects In the source bucket, and to list contents, put objects, and set
objectACLs in the destination bucke

J. Attach the policy to the user.

K. Run the aws s3 sync command as a user in the source accoun

L. Specify' the source and destination buckets to copy the data.

M. Run the aws s3 sync command as a user in the destination accoun

N. Specify' the source and destination buckets to copy the data.

Answer: ADF

NEW QUESTION 193

- (Exam Topic 2)

A company wants to allow its marketing team to perform SQL queries on customer records to identify market segments. The data is spread across hundreds of
files. The records must be encrypted in transit and at rest. The team manager must have the ability to manage users and groups but no team members should
have access to services or resources not required for the SQL queries Additionally, administrators need to audit the queries made and receive notifications when a
guery violates rules defined by the security team.

AWS Organizations has been used to create a new account and an AWS |IAM user with administrator permissions for the team manager. Which design meets
these requirements'?

A. Apply a service control policy (SCP) that allows access to IAM Amazon RD

B. and AWS CloudTrail Load customer records in Amazon RDS MySQL and train users to run queries using the AWS CL

C. Stream the query logs to Amazon CloudWatch Logs from the RDS database instance Use a subscription filter with AWS Lambda functions to audit and alarm
on queries against personal data

D. Apply a service control policy (SCP) that denies access to all services except IAM Amazon Athena Amazon S3 and AWS CloudTrail Store customer record files
in Amazon S3 and tram users to run queries using the CLI via Athena Analyze CloudTrail events to audit and alarm on queries against personal data

E. Apply a service control policy (SCP) that denies access to all services except IAM Amazon DynamoD

F. and AWS CloudTrail Store customer records in DynamoDB and train users to run queries using the AWS CLI Enable DynamoDB streams to track the queries
that are issued and use an AWS Lambda function for real-time monitoring and alerting

G. Apply a service control policy (SCP) that allows access to IAM Amazon Athena; Amazon S3, and AWS CloudTrail Store customer records as files in Amazon
S3 and train users to leverage the Amazon S3 Select feature and run queries using the AWS CLI Enable S3 object-level logging and analyze CloudTrail events to
audit and alarm on queries against personal data

Answer: B

NEW QUESTION 194

- (Exam Topic 2)

A company is running several workloads in a single AWS account. A new company policy states that engineers can provision only approved resources and that
engineers must use AWS CloudFormation to provision these resources. A solutions architect needs to create a solution to enforce the new restriction on the IAM
role that the engineers use for access.

What should the solutions architect do to create the solution?

A. Upload AWS CloudFormation templates that contain approved resources to an Amazon S3 bucket.Update the 1AM policy for the engineers' IAM role to only
allow access to Amazon S3 and AWS CloudFormatio

B. Use AWS CloudFormation templates to provision resources.

C. Update the IAM policy for the engineers’ IAM role with permissions to only allow provisioning of approved resources and AWS CloudFormatio

D. Use AWS CloudFormation templates to create stacks with approved resources.

E. Update the IAM policy for the engineers' IAM role with permissions to only allow AWS CloudFormation action

F. Create a new IAM policy with permission to provision approved resources, and assign the policy to a new IAM service rol

G. Assign the 1AM service role to AWS CloudFormation during stack creation.

H. Provision resources in AWS CloudFormation stack

I. Update the 1AM policy for the engineers' IAM role to only allow access to their own AWS CloudFormation stack.

Answer: B

NEW QUESTION 196

- (Exam Topic 2)

A company recently started hosting new application workloads in the AWS Cloud. The company is using Amazon EC2 instances. Amazon Elastic File System
(Amazon EFS) file systems, and Amazon RDS DB instances.

To meet regulatory and business requirements, the company must make the following changes for data backups:

Passing Certification Exams Made Easy visit - https://www.surepassexam.com



¥ Exam Recommend!! Get the Full AWS-Certified-Solutions-Architect-Professional dumps in VCE and PDF From SurePassExam
L' Sure https://lwww.surepassexam.com/AWS-Certified-Solutions-Architect-Professional-exam-dumps.html (412 New Questions)

» Backups must be retained based on custom daily, weekly, and monthly requirements.

» Backups must be replicated to at least one other AWS Region immediately after capture.

* The backup solution must provide a single source of backup status across the AWS environment.

» The backup solution must send immediate notifications upon failure of any resource backup.

Which combination of steps will meet these requirements with the LEAST amount of operational overhead? (Select THREE.)

A. Create an AWS Backup plan with a backup rule for each of the retention requirements.

B. Configure an AWS Backup plan to copy backups to another Region.

C. Create an AWS Lambda function to replicate backups to another Region and send notification if a failure occurs.

D. Add an Amazon Simple Notification Service (Amazon SNS) topic to the backup plan to send a natification for finished jobs that have any status except
BACKUP_JOB_COMPLETEO.

E. Create an Amazon Data Lifecycle Manager (Amazon DLM) snapshot lifecycle policy for each of the retention requirements.

F. Set up RDS shapshots on each database.

Answer: BDE

NEW QUESTION 197

- (Exam Topic 2)

A media company has a 30-TB repository of digital news videos These videos are stored on tape in an

on-premises tape library and referenced by a Media Asset Management (MAM) system The company wants to enrich the metadata for these videos in an
automated fashion and put them into a searchable catalog by using a MAM feature The company must be able to search based on information in the video such as
objects scenery items or people's faces A catalog is available that contains faces of people who have appeared in the videos that include an image of each person
The company would like to migrate these videos to AWS

The company has a high-speed AWS Direct Connect connection with AWS and would like to move the MAM solution video content directly from its current file
system

How can these requirements be met by using the LEAST amount of ongoing management overhead and causing MINIMAL disruption to the existing system™

A. Set up an AWS Storage Gateway file gateway appliance on-premise

B. Use the MAM solution to extract the videos from the current archive and push them into the file gateway Use the catalog of faces to build a collection in Amazon
Rekognition Build an AWS Lambda function that invokes the Rekognition Javascript SDK to have Rekognition pull the video from the Amazon S3 files backing the
file gateway, retrieve the required metadata and push the metadata into the MAM solution

C. Set up an AWS Storage Gateway tape gateway appliance on-premises Use the MAM solution to extract the videos from the current archive and push them into
the tape gateway Use the catalog of faces to build a collection in Amazon Rekognition Build an AWS Lambda function that invokes the Rekognition Javascript SDK
to have Amazon Rekognition process the video in the tape gateway retrieve the required metadata, and push the metadata into the MAM solution

D. Configure a video ingestion stream by using Amazon Kinesis Video Streams Use the catalog of faces to build a collection in Amazon Rekognition Stream the
videos from the MAM solution into Kinesis Video Streams Configure Amazon Rekognition to process the streamed videos Then, use a stream consumer to retrieve
the required metadata and push the metadata into the MAM solution Configure the stream to store the videos in Amazon S3

E. Set up an Amazon EC2 instance that runs the OpenCV libranes Copy the videos, images, and face catalog from the on-premises library into an Amazon EBS
volumemounted on this EC2 instance Process the videos to retrieve the required metadata, and push the metadata into the MAM solution, while also copying the
video files to an Amazon S3 bucket

Answer: C

NEW QUESTION 199
- (Exam Topic 2)
What should the solutions architect do to meet this requirement?

A. / Use Amazon CloudWatch to monitor the Sample Count statistic for each service in the ECS cluster Se: an alarm for when the math expression sample
Notification SERVICE_QUOTA(service)"100 is greater than 80 Notify the development team by using Amazon Simple Notification Service (Amazon SNS)

B. Use Amazon CloudWatch to monitor service quotas that are published under the AWS-'Usage metric namespace Set an alarm for when the math expression
metricSERVICE QUOTA(metric)"100 is greater than 80 Notify the development team by using Amazon Simple Notification Service (Amazon SNS).

C. Create an AWS Lambda function to poll detailed metrics from the ECS cluste

D. When the number running Fargate tasks is greater than 80. invoke Amazon Simple Email Service (Amazon SES) to notify the development team

E. Create an AWS Config rule to evaluate whether the Fargate SERVICE_QUOTA is greater than 80. Use Amazon Simple Email Service (Amazon SES) to notify
the development team when the AWS Config rule is not compliant.

Answer: B

NEW QUESTION 202

- (Exam Topic 2)

A company has a media metadata extraction pipeline running on AWS. Notifications containing a reference to a file Amazon S3 are sent to an Amazon Simple
Notification Service (Amazon SNS) topic The pipeline consists of a number of AWS Lambda functions that are subscribed to the SNS topic The Lambda functions
extract the S3 file and write metadata to an Amazon RDS PostgreSQL DB instance.

Users report that updates to the metadata are sometimes stow to appear or are lost. During these times, the CPU utilization on the database is high and the
number of failed Lambda invocations increases.

Which combination of actions should a solutions architect take to r-e'p resolve this issue? (Select TWO.)

A. Enable massage delivery status on the SNS topic Configure the SNS topic delivery policy to enable retries with exponential backoff

B. Create an Amazon Simple Queue Service (Amazon SOS) FIFO queue and subscribe the queue to the SNS topic Configure the Lambda functions to consume
messages from the SQS queue.

C. Create an RDS proxy for the RDS instance Update the Lambda functions to connect to the RDS instance using the proxy.

D. Enable the RDS Data API for the RDS instanc

E. Update the Lambda functions to connect to the RDS instance using the Data API

F. Create an Amazon Simple Queue Service (Amazon SQS) standard queue for each Lambda function and subscribe the queues to the SNS topi

G. Configure the Lambda functions to consume messages from their respective SQS queue.

Answer: CE

NEW QUESTION 204
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- (Exam Topic 2)
A company wants to migrate its website from an on-premises data center onto AWS At the same time it wants to migrate the website to a containerized

microservice-based architecture to improve the availability and cost efficiency The company's security policy states that privileges and network permissions must
be configured according to best practice, using least privilege

A solutions architect must create a containerized architecture that meets the security requirements and has deployed the application to an Amazon ECS cluster
What steps are required after the deployment to meet the requirements'? (Select TWO.)

A. Create tasks using the bridge network mode

B. Create tasks using the awsvpc network mode

C. Apply security groups to Amazon EC2 instances and use 1AM roles for EC2 instances to access other resources

D. Apply security groups to the tasks, and pass IAM credentials into the container at launch time to access other resources
E. Apply security groups to the tasks; and use 1AM roles for tasks to access other resources

Answer: BE

NEW QUESTION 209
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